BIIKER Z)lFRHRK

AMIEH9

TR18EE

RREHH 2006704724 T 70060520 | 2006/06/17 2006/07/31 B = B _E ¥ B
=] s s Fats Iz
{B/ml TO0LLF] 60 120] 154] 300 1160 50 289
B/l (+) (+) (+) [©) - - -
g 0.01LLF| - <0001 - - <0. <0.001 <0.001 <0.001
g 00055 F - <0. 00005 - - . <0. 00005 <0. 00005 <0. 00005
g 0.01% - <0001 - = <0. <0. <0. <0.001
ng 0. 01K - <0. - - <0. <0.00 <0. <0.001
g 0. 0TI F| - <0. - = <0. <0.00 <0. <0.001
ng/ 0. 055U F - <0.005 - - <0. <0. 005 <0. 005 <0.005
g 0. 0TI F| - <0001 - = <0. <0.00 <0.001 <0.001
ma/ T 2.94 .20 1.21 1.35 2.94 72 1.34
ng > - <0.08 - = .0 <0.08] <0.08|
g Y F - <0.02] - . - 20.02 £0.02 <0.02}
ng 20 - 002 - <0 = <0.0002 <0.0002 <0.0002)
g S F] -] <0. 005 - <0. - <0. 005 <0. 005 <0. 005]
ng 20 - 0.002 - <0. = <0.002 <0.002 <0.002)
ng 41 F| - 4 - <0.0 - <0.004 <0. 004 <0. 004
ng/ 2 F] -] 2 - 0.0 - <0.002 <0. 002 <0.002
FrSZO00IFL> ma/ > T - - 0.0 - <0.00 <0. <0.001
FUZo0TFLy ng/ 3T -] 3 - <0.0 - <0.003 <0.003 <0. 003}
aNZ2 g Y F - - <0.0 - <0.00 <0. <0.001
2 0 OFES g 25 ] - - - - - - -
VISI=E N ng 6L | - - - - - - -
J Y OOE g, 041 | - - - - - -
EJoE/00X%> mg, . 1F| = = = - - - -
% ng 0. 01X F - - - - - -
FEEr)NOXE Y g/ L 1LLF] - - - = = = -
B[rUZ OO ng, = = = = = -]
2070042 ng 35LF] - - - = = = -
TOERIVL ng T - - - - - - - -
FIVLTILTE R ng/ . 08LLF| -| - - - - - -
B2 g T F] - .04 - X - . 06 0.06 0.0 0.02
SN mg/ 0. 2L F| B .04 - X - .07 .07 .04 . 03]
[3 ng 0.3 F] 0.06 0.08 0.10] X 0.06 . 06 0.10 0.06 0.07
f ng/ TLF - <001 - . - 1 <0.01 <0.0 <0.0T
FEUSL ng 2005 F] - 6.0 - R - 8.5 11.00 6. 8.1
8% ng/ . 05LLF| 0.035 0.026 0.024 X 0.020 . 023 0.05 0.02 0.030]
Bt A~ g/ 2005 F] 9.1 8.3 9.4 X 9.6 X 15. 6.9 9.9
DYk « 37 3 IREE ng/ 3001 | - 20.7 - . - 32. 19.5 24.7
SRR R ng, 500X F - 73 - 0! - 106 73 2
A A REAEA] ng/ 0. 2| - 0.02 - ). 02 = <0.02 <0.02 <0.02]
DEY. V. g y <0. 000001 00001] __<0. 000007 0 <0.000001 <0.000007] __ <0.0000 <0. 000001
- XF VA IRV A=V ng/ ] <0.000001 0001 <0. 000001 <0.000001 <0.000001] _<0. 0000 <0.000001
A7 2 FmmEHH g/ . 020 - . 002] - -] <0.002 <0.002 <0. 002
7 /—IVE mg/ 005 F| - . 005 - - <0.005 <0.005 <0.005
A7 (100 ng/ SF] 0.8 0.9) 1.2 0.8| 1.2 0.8] 1.0f
p*H 6.9 7.0 6.9 6.9 7.0 6.8 6.9
[} - - - - - - =
§§ Nz IERE IEE IIE1] - - =
E E SILF 2 3 6 3 6 3
(B 3 2L F 1.4 0.7 1.8 0.5 1.8 0.5 o.ﬂ




KRR Z)IZRFK

AMIEH9

TRISEE

TORERH 2006/04/24 | 2006/05/29 | 2006/06/12 2006/07/31 | 2006/09,05 | 2006/10/23 | 2006/11/07 B = B _E T 5
- o SN S S m—
{Bl/ml T00LLF] 70] 150] 131 170] 180) 30 70 860 30 253
B/l (+) (+) (+) [©) (+ +) + - - -
g 0.01LLF| - <0001 - - <0.00 <0.001 . <0.001 <0.001 <0.001
ng 00052 F| - <0. 00005 - - <0. 0000 <0. 00005 0| <0. 00005 <0. 00005 <0. 00005]
g 0.01% - <0001 - = <0.00 <0.00 . <0. <0. <0.001
ng 0. 01 F| - <0. - = <0.00 <0.00 <0.00 <0. <0.001
g 0. 0TI F| - <0. - = <0.00 <0.00 <0.00 <0. <0.001
ng/ 0.05L(F| - <0.005 - - <0.005 <0.00 5 <0.005 <0.005 <0.005
g 0. 0TI F| - <0001 - = <0.00 0.0 . <0.001 <0.001 <0.001
g/ YT 1.49 112 1.15 1.27 0. 64 .9 1.2 1.49 4 1.10
ng y - < .(E] - - <0.08 <0.08 <0.08 <0.08[ <0.08[ <0.08}
g Y F - <0.02] - - <0.02 <0.02 <0.02 <0.02 .02 <0.02)
ng 20 - <0.0002 - <0 = <0.0002 <0.0002 0002 <0.0002 <0.0002 <0.0002)
g SUF - <0.005 <0. - <0.005 <0. <0.005 <0.005 <0.005 <0.005
ng 20 - <0.002 - <0. = 0.002 <0. <0.002 <0.002 <0.002 <0.002
ng 41| - <0.004 - <0.0 - 4 <0. . 004 <0. 004 <0.004 <0.004
ng/ 25(F] - <0.002 - 0.0 - 2 <0002 . 002 <0.002 <0.002 <0.002
FrES/O00IFLy ng/ T - <0. - <0.0 = <0001 .0 <0.00 <0. <0.001
FUZo0TFLy ng/ 3 F - <0.003 - 0.0 - 3 <0003 .0 <0.003 <0.003 <0. 003}
aNZ2 g Y F - <0. - <0.0 = <0001 .00 <0.00 <0. <0.001
2 0 OFES g 25 ] - - - - - - - - -
VISI=E N ng 6L | - - - - -] - - - -
=11 g, 041 | - - - - - - - -
BETJOES00XEY g I = = = = = = - - E
# g 0. 01 F| - - - - - - - -
BREFINOAZY g/ A - - - - - - - - &
B[rUZ OO g - = - = - = -
JOES/OO0XRY ng = = = - = - - =
TOERIVL g T - - - - -] - -] - - -
RIVLT7IVTER ng/ . 08| - - - - - - - - - - -
B2 g T F] - <001 - .01 - <0.01 0.03 0.01 0.03 0.0 <0.01
=T N ng/ 0. 2L(F| - .03 - .04 = .03 .04 0.03 .05 .03 . 04
[ g, 0.3L(F] 0.13 0.08 0.10) .08 0.07 . .07 0. 06] 0.13 0.06 c.cgl
a ng/ TLF - <0.01 - . - <0. <0.01 <0.01 <0.0 <0.0 <0.01
FEUSL g 200 | - 6.5 - - 7. 8.2 10.9 10. 6.5 8.0
8% ng/ . 05LLF| 0030 0.026 0.024 0.023 0.07 0.022 0. 021 0.070 0.021 0.030
Bt A~ g/ 200 | 8.1 8.5 9.4 9.6 7.2 9.9 15.0 15.0 7.2 9.7,
DYk « 37 3 IREE ng/ 3001 | - 22.6 - - 19.3 24.6 28.9 28.9 18. 23.0
R DT g 5005 F| - 4 - - 68 72 77 89 4 74
A A REAEA] ng/ 0. 2| - <0.02| - = <0.02 <0.02 <0.02 <0.02 <0. <0.02]
DEY. V. g y <0.000007] _<0.000007 _<0. 000001 <0.000001 0000 <0.000007| _<0. 00 <0.000007| __<0. 0000 <0.000001
- XF VA IRV A=V g/ ] <0.000007] _<0.000001] _<0. 000001 <0.000001 000 <0.000001] _<0.0000 <0.000001] _<0. 0000 <0.000001
A7 2 FmmEHH g/ . 020 - <0. 002 - -] . 002! <0. 002 . 002 <0.002 <0.002 <0. 002
7 /—IVE mg/ 005 F| - <0005 - - . 005 <0.003 <0.003] <0.005 <0.005 <0.005
AR _(100) ng/ SR 0.7 0.9 71 0.8 -3 0.9 o.gl 1.3 0.7 0.9
p*H 6.9 6.9 6.7 6.8 .8 7.0 7. oI 7.0 6.7 6.9
[} - - - - - - - - - =
§§ IR JIER JIZR N[ER NIZR IR = - - -
E E SELF 3 3 6 3 4 2 2 6 2 3
[EE & 2T 28 0.8l 7 0.8 07 0.5 0.4l 78] 0.4 |




AMIEH 9

TR 18RS

RBEKER Z)IRFEK

TORERH 2006/04/24 T 2006/05/29 T 2006/06/T2 T 2006/07/05 | 2006/07/31 | 2006/09/05 T 2006/10/23 230% 07 1 2006/11/27 B = B _E A |
— xf& B B 50 kil EE #F_a z Zz B il _ _ d
1B/ ml T00LL 2 16] T 7 4 2 2 T 2 16 T
1B/ ml Q) =) ) (+ ) =) () () + - - B
[ 0.01LLF| - <0001 - <0.00 - . <0.001 <0. <0.00 <0.001 <0.001 <0.001
ng 0. 00055 F| - <0. 00005 - <0. 0000 - <0. 0000 <0. 00005 <0. 00! <0. 0000 <0. 00005 <0. 00005 <0. 00005]
g 0.01% - <0001 - <0.00 = <0.00 <0.00 < <0.00 <0. <0. <0.001
ng 0. 01 F| - <0. - <0.00 = <0.00 <0.00 < <0.00 <0.00 <0. <0.001
g 0. 0TI F| - <0. - <0.00 = <0.00 <0.00 < <0.00 <0.00 <0. <0.001
ng/ 0.05L(F| - <0.005 - <0.005 - <0.005 <0.005 < <0.005 <0.005 <0.005 <0.005
g 0. 0TI F| - <0001 - <0.00 = <0.00 <0.001 < <0.00 <0.001 <0.001 <0.001
mg/ Y F 1.47 1. 66 1.88] 2.13 1.55 1. 39) 1.6 2.13 1.5 2.13 1.3 1.70)
g 0.81 - <0.08] - <0.08 = <0.08 <0.08 < .@I <0.08) <0.08[ <0. 08| <0.08}
ng XF] - <0.02 - <0.02 - <0.02 <0.02 <0.02 <0.02 .02 <0.02 <0.02)
ng 0. 0025 - <0.0002 - <0.0002 = <0.0002 <0.0002 <0.0002 <0. 0002 <0.0002 <0.0002 <0.0002)
ng 0.05L(F| - <0.005 <0.005 - <0.005 <0.005 <0.005] <0. 005 <0.005 <0.005 <0.005
ng 0. 025 - <0.002 - <0.002 = <0.002 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002
ng 0. 041 F| - <0.004 - <0.004 - <0.004 <0.004 <0.004 <0.004 <0. 004 <0.004 <0.004
ng/ 0. 02(F| - <0.002 - <0.002 - <0.002 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002
FrSo00IF LY mg/ 0.01(F| - < - <0.001 = <0. <0.001 <0.0 <0.0 <0.00 <0. <0.001
FJ7O00TFLY mg/ 0. 03(F| - <0.003 - <0.003 - <0.003 <0.003 <0.0 <0.003 <0.003 <0.003 <0. 003}
Nz ng 0.01(F| - < - <0.001 = <0. <0.001 <0.00 <0.00 <0.00 <0. <0.001
7 O O&ER g, 0. 021 F] - - - - - - - - ] - - -
VI=I=EIION ng 0. 06 F| - - - = = - - - -] - - -
P A=1=] g 0. 041 F| - - - - - - - - -] - -
= 3"713—%?75%:% 3 g 0. TILF| - - - = - - - - -] - - -
# g 0. 01 F| - - - = - - - - ] - -
BErINOXRY mg/ 0. TILF| - - - - - - - -] - - -
B FUZ OO8E mg 0.2117 - - - - - - -
JOES/ 00X Ry ng 0. 3T = = - - - - - -
TOERIVL g 0. 091 F| - - - - - -] - -] -] - - -
FIVLT7IVTER ng/ 0. 08I F| - - - - - - - - ] - - -
B2 g T F] E -2 - <0.01 - <0.01 <0.01 <0.01 0. 03] 0.20 0.0 0. 04
=T N mg/ 0.2L(F - <0.02 - <0.02 = <0.02 <0.02 <0.02 <0.02 <0.02 <0.0 <0.02
= g 0.3L(F] <0.01 <0.0 <0.01 <0.01 <0.01 <0. <0. 0.0 0.0 0.0 0.0 <0.0
a ng/ 1] - . - <0.01 = <0. . <0.0 <0.0 . <0.0 0.0
FEUSL ng 2005 F| - 9.9 - 4.3 - 3. 19.5 24. 0 22.2] 24.0 9. 17.
VAV mg/ 0. 05L(F| <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0. 005 <0.005) <0. 005 <0.005 <0. 005
Bt A~ ng/ 2005 F| 8.6 10.9 13.9 12.1 10.8 .9 11.9 19.5 11.4 19.5 8.6 12.0
D99k - 37 39 IBEE ng/ 30014 F| - 257, - 24.7 - 27.8] 30.5 35.2 28. 6| 35.2 24.7 28.8)
EEEZ g 50054 F| - 5 - 125 = 106 117 117 14 125 5 111
A A REAEA] ng/ 0. 2L F| - <0.02] - <0.02 = <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0. 02}
JIFAZY ng 0.00001 <0.000007| <0.000007| _<0.000001] _ <0. 00000 <0.000001| _<0. 00000 <0.000007] <. 00| <0.00000 <0.000001] __<0.0000 <0.000001
- XF VA IRV A=V ng/ 0. 000014 F[_ <0.000001] _ <0.000001] _ <0.000007[ _ <0.0: <0.000001] _ <0.00000 <0.000007] _<0.0000 <0.00000 <0.000001] _<0. 0000 <0.000001
A7 2 FmmEHH g/ 0. 02X F - <0. 002 - <0. 002 -] <0.002 <0. 002 <0.002 <0. 002] <0.002 <0.002 <0. 002
7 /—IVE g/ 0. 005X °F - <0.005 - <0.005 - <0.005 <0.003 <0.005 <0.005, <0.005 <0.005 <0.005
AW _(100) mg/ 5L 0.5 0.6 0.6 0.5 0.6 .7 0.6 0.6 0. 6| 0.7 0.5 o.e]
;;*H 6.3 6.2 6.2 6.1 6.0 0 6.0 6.0 6.1 6.3 6.0 6.1
%é #BE ] BE BE BE ] R R ] - - -
E E Y&y 1 1 1 1 1 1 1 1 1
T E 2] <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 0.1 0.1 0.1 <0.1 <0.1 <0.1




AMIER 9

BllgkiE Bkt E'ZEE'I SEE

RREHH 2006704724 T 700605720 | 2006/06/17 T 2006/07/05 ] 7006/07/31 2006%09?05 | zooeéw pE] B = B & ¥ B
B3 B5B5 BSBS B5H5 MR BT S [=13) - —
&/l T00LL T~ 0 0 0 0 0 I . 0 0
B/l =) -) (G () [C] () =) - -
g 0.01LCF - <0.001 - <0.00 = 00 <0.001 <0.001 <0.001 0.
g 0000550 K —[_<0.00005 —[__<0.0000 —[__<0. 0000 <0, 00005 <0.00005] __<0.00005] ___<0. 00
g 0015 = <0.001 - <0.00 = <0.00 <0.00 <0. <0. <.
g 0.01LLF - 0. - <0.00 = <000 <0.00 <0.00 0. 0.
g 0.01LF - 0. - <0.00 = <0.00 <0.00 <0.00 <0. 0.
g/ 0.055LF - <0.005 - <0.005 = <0.005 <0.005 <0.005 <0.005 0.
g 0.01LLF - <0.001 - <0.00 = <0.00 <0.001 <0.001 <0.001 0.
g/ T 1.25 1.31 7,61 1.28 173 0.82 1.02 173 .82 1.
g 0.81 - <0.08] - <0.08 = <0.08 <0.08 <0.08[ <0.08] <0.
ng T - 20.02 - 20,02 = 20,02 20,02 20,02 02 20,02}
ng 0,002 - 20,0002 30,0002 = <0. 0002 <0. 0002 <0. 0002 <0. 0002 30,00
g 0.055CF - <0.005 <0.005 - <0. 005 <0. <0. 005 <0.005 <0. 00
ng 0025 - <0.002 - <0.002 = <0.002 <0. <0.002 <0.002 0.0
g 0. 04L(F - <0.004 - <0. 004 - <0.004 0. <0. 004 <0. 004 0.
ma/ 0. 025LF - 20.002 - <0.002 = <0.002 20002 <0.002 20.002 0.
FtSo00IFLY g/ 0.01LCF - 0. - <0001 - 0. 20001 <0.00 0. 0.
WA= A%% g/ 0. 03LLF - 20.003 - 20.003 = 20003 <0.003 <0.003 20003 0.
N2 g 0.01LLF - 0. - <0.00 - 0. <0.001 <0.00 0. 0.
7 OOEEE ng 0. 025LF - <0.002 - <0.002 = <0.002 <0.002 <0.002 <0.002 0.0
VI=I=GI]IN g 0.065LF - 004 - 007 - 005 003 007 0.002 0.
5 OOk g 0. 04L(F - 007 - 0. 004 - 005 20 0.007 0. 004 0.0
BESTOE/00%Y ng 0.1 F| - . 006 - <0. = <0.00 0.00 <0.0 0.
# g 0.01LLF - 20.001 - <0.00 = <0.00 20 20.00 <0.00 0.0
b N DIN=F-- 2 g/ 0. 1F] - 015 - . 016 = .00 0.01 0.005 0.
B[F) 7 OO g 0. 2207 - 0.02 - 0.02 - 0.02 <0 0.02 <0.02 <0
JOED/00XRY g 0. 03LLF - 5 - . 009 = . 004 . 009 0.003 0.
JTOEFRIVL ng 0.09LLF - 20.001 - <0.001 = 20.00 3 20,001 20.001 0.
RIVLTIVTEF mg/ 008X F -] <0.008] - <0.008 - <0. 008] < <0.008] <0. 008] <0.
B ng 1T - .01 - .01 = .01 <0. 0.0 <0.0 <0
VAN o/ 0_2F| - <0.02 - <0.02 = <0.02 . 04 <0. <
& ng 0.3 F| 0.07 0.0 <001 0.0 <001 < 20. 0.07 0.0 0
F g/ T - < - 0. = < . 01 0.0 3
FRUDL g 200 F| - 7 - - ] 11.7 14.7 8. i
A o/ 0. 055CF 20.005 <0.005 <0005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005
B F~ ma/ 200 F| 8.8 12.4 1.4 3.0 9.5 13.0 18.5 8.8 12
W9k < X7 3R g/ 3004 F| - 23 - 19.2 = 29.6 35,5 19.2 26
BRI ng 5005 = 73 = 9% = 88 9 73
A7 HEE A g/ 0.2 F| - 2002 - 30,02 = 30,02 2002 20,02 0.
JIFA=Y g 0.000015 0.000001] __<0.000001] __<0.000001] __<0.000001] __<0. 000001 <0.000001 <0,000001] __<0.0000 0,000
=X F VA IRV Z A =]V na/ 0.0000TLLF|| _ <0.000001] _<0.000001] _ <0.000001] _ <0.0 <0. 000001 <0. 000001 <0.000001] __<0. 0000 <0.000
A7 2 FmmEHH g/ 0. 02X F - <0. 002 - <0. 002 -] <0. 002 <0.002 <0.002 <0.
7t /—IVE g/ 0. 0054 F| - <0.005 - <0.005 <0.005 <0.005 <0.005 20.00
SHEH (100 na/ SLUF] 0.6 0.5 0.7 0.5 0.7 0.7 0.5 0.
D 6.9 6.9 6.5 6.7 . 6.9 6.5 6.
3 HEE B R HRE HEE - -
%é HER HER 2EE 2ER EES -] -]
i E SILF| <1 <1 <1 1 <1 T <
| B B 24 F] 0.1 0.1 <0.1 <01 0.1 0.1 0.1 <0.1




TMIER 9 . TR0
T ‘ KK EH
IRz (D

2008702718 [ 2008703710
BHR EHEH LGS Il EHBE ﬁﬁ nﬁnﬁ FRIF
17.0 19.0 24.0 A 20.0 13.0 8.0 5.0 3. 9.0
15.0 19.0 24.0 25.0 19.0 12.0 9.0 4.0 4, 8.0
0 Zy 51 07 70 T 57 56 2 387
@) ® ©) ® @) O) o] O] O T ®
<0.0003 -|__<0.0003 —|__<0.0003 -|__<0.000. -] __<0.0003] _<0.0003
<0.00005 —|__<0.00005 —|__<0.00005 =_<0.0000. = <0.00005] _<0.00005 -
0.00 - . 01 = .00 = . 00 - . 001 -
<0.00 - 001 = <0.00 = .00 - 00 001 =
<0.00 - 001 = .00 = .00 - 00 001 =
<0. 00! - 005 = <0.00! = 00! - 00! 005 =
<0.00 - 001 = .00 = 001 - 001 001 =
0.92 T.18] 0.90 0.70 0.69 0.89 1.06 1.03 1.39 1.22 142
<0.08] - <0.08] - <0.08 - <0.08] - <0.08 <0.08 -
<0.02 - <0.02 = <0.02 = <0.02 - <0.02 0.02 =
<0. 0002 —|__<0.0002 =|__<0.0002 =[__<0.0002 —|___<0.0002] __<0.0002 =
<0.005 - <0.005 = <0.005 = <0.005 - <0.005 <0.005 -
<0.002 - 002 = 0.002 = 002 - 002 002 =
<0.001 - 001 = 001 = 001 - 001 001 =
<0.003[ - . 003 - <0.003 - . 003 - 003 003 -
<0.001 - 001 = 001 = 001 - 001 001 =
=] ! [s]=] - - - = = = - - = =
FEEZ700X%2> = = -] -] -] - = = - ]
| PAEEZIIIN mg, = - - = - = B B B =
FIVLTIVTEF g, - - - = = = - - - -
EF ng <0.01 - 01 = <0.01 = <0. - <0. -
HIE=IN ng .29 - .33 - 11 — X - X -
mg, 0.08 g‘ 0.14] 18] 0.06 .08 0.06 0.04 X 0.08]
mg, - <0.01 - 0.0 - <0.01 = < - < -
mg, = 5.1 - 4. = .7 = - ]
mg, 0.033 0.038 0056 0.02 0.022 0.048 0.013 0.021 0.014 0. 02 0.01 0,029
mg/ 8.8 6.4 .7 .0 8.4 9. 1 10. 11.0
mg, - 20 17, - 25.7 - 2 - 3 26. -
mg, - 5 - 80 - 88 - 77 - 88 68 -
mg, = <0.02 ~
mg, <0.000001 <0.000001
mg/ <0.000001 1| <0.000001 <0.000001 <0.00000 <0.000001 <0.000001
mg, - <0.002 - - 0 -
mg, - <0.0005 - - —[__<0.0005 - <0.0005] _<0.0005 -
mg, 1.6 2.3 1.4 1.9 1.4 1.6 1.0 1.1 1.0 1.0 1.0 1.8
58LL Ers. 6507 6.9 6.9 6.9 6.9 6.9 7.0 7.0 7.0 6.9 6.9 6.8 6.9
BCREWNT = - - - = = = - - - - -
BRI E TR T TR TR TR T TTRE TR TR T RS TTRE
E SI(F 4 1 6 12 6 4 3 3 2 4
I 20 F] 0.9 Z 1.4 2.3 14 1 0.8 0.7 0.6 iR 0.6 31
mg, 001511 - 0.00 - - = 0.00 - - - 000 - -
mg/ 000214 F| —[_<0.000. - - - <0.0002 = - - <0.0002 = -
mg, 001X = <0.00 - - = <0.001 = - - 0.001 = =
mg/ 0. 05L(F| = 0,03 - - = <0.005 = - - <0.005 - -
g, 0. 00411 F| =[__<0.000: - - —|__<0.0004 = - —|__<0.0004 = -
mg, . 21] = 0.0 - - = €0.02 = - - €0.02 = -
mg/ T = <0.0 - - = <0.01 = - - <0.01 = -
mg, - - - - - - - - - - - -
mg/ i -] - - - -] -] -] - - - - -]
g, 0. 01X F = - - - = = = - - - = -
mg, 0.0 - - - -] - - - - - - - -
mg/ e -] - - - -] -] -] - - - - -
ng TOZLET00K - 20.4] - 17.2 - 75 - 28.7 - 30.6 26.7 -
mg/ 0. 01&" 0.033 0.038 0.056 0.029 0.022 0.048 0.013 0.021 0.014 0.026 0.019 0,09
i g, 2000 T - - - - - - - - - - - -
B, 1-F 70018y mg, 0.3L( = <0.03 - - = <0.03 = - - <0.03 = - <0. 0,03 <0.03)
B[ XFIV-t-7 F)LT—7JU (IBE) mg, 0.02L(F| - <0.002 - - - <0.002 - - - <0.002 - - <0.002 <0.002 <0.002
B|EEmE ) ma/ g_tz“ - - - - - - - - - - - - - - |
ng - - - - - - - - - - - - = =) -|
m MD(TZOOQ(" = 59 - 80 = 88 = 77 = 88 68 - 88 59 7]
i 1L 0.9 7.7 T4 2.3 T4 1.4 0.8 0.7 0.6 1.3 0.6 31 2.3 0.6 1.7]
7512 6.9 6.9 6.9 6.9 6.9 7.0 7.0 7.0 6.9 6.9 6.8 6.9 7.0 6.8 6.9)
ma/ 1 HLMEE Lk ) = = = = = — — - = = — = p - -
B mT 200X F - - - - - - - - - - - - - - |
ma/T 0. 1L(F = <0.01 = 0.0 = 0.0 = <0.01 = i 0.01 - 0.0 <001 0.01
ma/[ 01L(F - .29 - 3. - 1 - .03 - .03 .04 -~ 3. .03 14
mg/T 0.19 0] 0.13 1 015 1 0.08 .07 0_10] X .21 0.42 X .07 ﬁ
us/cm 100.6 2.0 123.6 101, 130.4 T19. 106.0 113.2 128.5 128.6 120.2 127.4 T30. 4.0 115.3]
kq
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!B BHR EHEH BHEH Eﬁna nﬁnﬁ EE =E
T 2. 17.0 19.0 24.0 0 20.0 13.0 8.0 5.0 3.0 9.0
K 11, 15.0 19.0 24.0 .0 19.0 12.0 9.0 2.0 2.0 8.0
g 0001 0,000, - - - - - 0.0002 - 0.0002 - - =
ng 0.0031X <0.0000 = = - = =|_<0.00001 =[_<0.00001 = = - <0.
mg, 0. 0210 <0. 0000: - - - = = <0. 00002 - <0. 00002 - = - <0.
ng . 0025 —[__<0.0001 —[__<0.0001 —|__<0.0001 —[__<0.0001 —[__<0.0007 __<0.0001 -
ng .o_ﬁos 5 00000 - = - = = 0000 - 00001 - - =
ng . 005 <0.0000 - - - = = . 0000 - 00002 - = =
ng . 003L <0.0000 = = = = = 0000 = 0000 = = -
mq, 0.3(F <0. 0000 - - - = = 0000 - . 0000 - = =
ng 0. 055! <0.0000 - = - = = . 0000 - 0000 = = -
s ng 0. 05L <0.0000 = = = = = 0000 = 0000 = = =
5% LR A DOVP) ng 0. 008% <0.0000 - - - = = . 0000 - 0000 - = =
7 (BPHC) g, 0. 035 <0.0000 - - - = = 0000 - 0000 - = =
07z (CNP mg. 0. 0001 0. 000 - - - = = 0. 000 - 0. 000 - = -
ng 0.0005% <0.000 - = - = = 0.000 - 0.000 = = -
KZ(18P) ng 0.008L <0.0000 = = = = = . 0000 = 0000 = = -
ng 0.004% <0.0000 - - - = = . 0000 - 0000 - = =
ng o_ﬁz 5 <0. 000002 - - - = = <0.000002 =] <0.000002 - - - 0.
mg, 0. 005LLF|_<0. 000005 - - - = -|__<0.000005 =|__<0. 000005 - - - <
ng o.joz > <0.00001 = = = = = 00001 = 00001 = = -
mg, 0. 006X~ <0. 00001 - - - = = 00001 - . 00001 - = =
ng u:ﬁos ) <0.0008 - = - = = 0. 0008 - 00008 = = -
ng 0.001LX <0.00003 = = = = =[__<0.00003 =[__<0.00003 = = = 0.
mg 0. 003%) <0.00005 - - - = —|_<0.00005 —[_<0.00005 - = = <0.
ng 0. 03L) 0.0002 = = = = = 0.0002 = 0.0002 = = -
mg, 0. 002LF <0. 00005 - - - - = . 00005 - . 00005 - = =
ng 0,30 <0.0000 - = - = = . 0000, - . 00002 = = -
ng 0.004L <0.0000 = = = = = 0000 = 00001 = = -
mg 0. 043 <0.0000 - - - = = . 0000 - 00005 - = =
ng 0. 30 0,000 = = - = = 0.000 = 0.0001 = = -
mg, 0. 055(F| <0. 0000 - - - = = <0. 0000: - <0. 00002 - = - <0. ),
ng 0.2 <0.0000 - - - = —[_<0.0000 —[<0.0000 - = - <. X
ng 0. 2LCF|—<0.0000 = = - = —[_<0.0000 —]_<0.0000 = = - 0. X X
ng 0.0: <0.000 - - - = = 0.000 - 0,000 - - - X X X
ng 005X F|[—<0.0000! - - - = —[_<0. 0000 —_<0.0000! - - - <0.00005] _<0. 00005] _<0. 0000
mg, 0. 1 F <0. 0000 - - - = = <0. 0000 - <0. 0000 - - - <0. 0000° <0. 0000° <0. 0000
ng 0.2 0,000 - - - = = 0.000 - 0,000 - = - X X
mg/ 00091 F|—<0. 0000 = = - = = . 0000 = . 0000 = = -
ng . 02LL <0.0000 - - - = = . 0000 - . 0000 - - -
ng 030 K| <0.0000 - - - = = . 0000 - 0000 - - -
ng . 02LUF | <0.0000; = = - = = 0000 = 00002 = = -
ng 011( 0,000 - - - = = 0.000 - 0,000 - = -
mg/ 0 1L( | <0.0000 = = - = = . 0000 = . 0000 = = -
ng 0. 08I <0.0000 - - - = = 0000 - . 0000 - - -
ng 0. 10 F|_<0.0000 - - - = = . 0000 - 0000 - - -
ng 0. 005LLT [ <0.00002 = = - = = 00002 = 00002 = = -
ng 0. 0311 <0.00005 - - - = = 00005 - . 00005 - = -
7 ] mg/ 0. 01LF|<0.00002 = = - = = 00002 = 00002 = = -
Z| FADA) ng 0.05. <0.00002 B B - = = 00002 B . 00002 B = -
*,||17471/T2(1/ T173%, EDDP) ___ma/ 0. 006L(F [ <0.00005 - - - - - 00005 - . 0000 - - -
[SA=EI=p ng 0. 04L( | <0.0000 = = - = = 0000 = 0000 = = -
ik ng 0.1 <0.0000 - - - = = 0000 - . 0000 - = -
II)Ozft v E mg/" 0. 021 F | <0. 0000 - - = = = . 0000 = . 0000 = - -
"‘"7 LF>o0-]U mg, 0.04] <0.0000 - = - = = . 0000 B . 0000 B = -
4‘/7’1:173;1/7<M|Pc) ng/ 0. 01L(F|[<0.00005 - - - - - 00005 - . 00005 - - -
F77 ES I~><§- v ng 0.3L( | <0.00005 = = - = = 00005 = 00005 = = -
,;IIT 1%/ g, 0.2 <0.00002 - - - - - . 0000 = . 00002 = = -
=X ?a%tz(‘mp mg/ 0. 004L(F | <0.0000 - - - = = 0000 - 00001 - - -
ng 0.0: <0.0000 B B - = = . 0000 B . 00002 B = -
mq/ 0. 15T 0. 000 - - - - - 0.000 - 0.000 - - -
ng 0. 005LLF | <0. 0000 = = - = —[_<0.0000 —[_<0.0000 = = -
ng 0. 09 <0.000 - - - = = 0.000 - 0,000 - = -
ng 0. 003L(T | <0. 0000 - - - = —[_<0.0000 —[_<0.0000 - - -
ng 011 <0.0000 B B - = —|_<0.0000! —[_<0.0000" B = -
mq/ . 08I F| <0.00 - - - - - <0.00 - <0.00 - - -
ng 010 [ <0.0000 = = - = —[_<0.0000 —_<0.0000 = = -
ng 051, <0.0000 - - - = = _<0.0000! —[_<0.0000" - = -
T Ty mg/ 0. 005L(F| <0.00 - - - = = <0.00 - <0.00 - - -
DI=P(1[)] g, 0. 0251 <0.000 B B - = —[__<0.000 B 0. 000 B = -
TV FRLT 7Y nq 0. 01L(F|_<0.0000 - - - - =[_<0.0000" —[_<0.0000" - - -
TFror 709X ng 0_0BL{ | <0.00005 B = - = —[_<0.00005 —_<0.00005 = = -
17X (IPP) mg 0. 0011 <0.0000 - - - = —[_<0.0000 —[<0.0000 - - -
TR —F mg/ 2L R <0.0001 - - - = —[__<0.000' - 0,000 - - -
EEPA(Giz2) ng 051 <0.0000 B B - = —|_<0. 0000 B 0000 B - -
VL ng NED <0.0000 - - - = =[_<0.0000; - 0000 - = -
ng . 0210 [ <0.00002 = = - = —[_<0.00002 = 0000 = = -
ng . 04L(F | <0. 000004 - - - = —|<0. 000004 —[<0. 000004 - - - K
ng 03X [ <0.00002 - - - = = 00002 - . 0000 - - -
ng 0. 00311 <0.00002 - - - = = 00002 - 0000 - - -
ng 0,004 <0.00004 - - - = = 00004 - 00004 - - -
ng 00211 <0.0000 B B - = = . 0000 B . 0000 B = -
nq 0. 004L(F[_<0. 0000 - - - - - . 00004 - 00004 - - -
ng 0.055( 000 = = - = = 0.000 = 0.000 = = -
ng 003X <0.000 - - - = = 0.000 - 0,000 - = -
mg 0.81( <0. 0000 - - - = =<0, 0000 —_<0. 0000 - - -
Y ng 0.2L( . = = = = = 0. 000 B 0.000 B = -
N ZV 707 XFIU nq 0. AL{F|__<0.0000 - - - - - . 0000 - 0000 - - - <0. 00001
F IS 55I—I0 ng 0. 0BL( || _<0. 000002 = = - = —[_<0.000002 =] <0.000002 = = - <0. 000002
EAOER ng 000091 <0.00005 - - - = —|_<0.00005 —[_<0.00005 - - - <0.00005
TXEXF TS ng 0. 02X <0.00001 - - - = = __<0.00001 =] <0.00001 - - - <0.00001
FIETALOEY mg 0,511 <0.00002 B B - = —|_<0.00002 —[_<0.00002 B - - <0.00002
(= /02T i mg, 0.006L1 <0.005 - - - - - <0.005 - <0.005 - - - <0.005
REFIU mg, 211 <0.02 = = - = = = 002 0,02 = = - <0.02
KUA—NRE—F ng [ES <0.002 - - - = = <0002 - <0.002 - - - <0.002
IN=N3]%d"] /x FIU mg, 0,311 <0, 00005 - - - = —[__<0.00005 - _<0.00005 - - - <0. 00005
7597 ng, 0. 03L( F||_<0.000002 B B - = —|<0.000002 —[<0.000002 B - - <0. 00000;
9’-7J'~/NI/7 ng 008X <0.00005 - - - = = _<0.00005 —[_<0.00005 - = - <0.00005
JOE1FJ—1U ng 0,055 0. 000 = = - = = 0. 0002 = 0. 0002 = = - 0. 0002
DaE=02 ng 0.3LC <0. 0000 - - - = = 00002 - 00002 - - - . 00002
ZDWISEwES2 mg 0,311 <0.0000 - - - = = 00001 - 00001 - - - <0.00001
FUTNS U g, 00611 <0.0000 B B - = = 00001 B 00001 B - - 00001
A7 JANO—IL ng 0. 0081 0000 - - - = = 00001 - 00001 - = - 00001
Z470-)b ng 0. 0005L(F = - - - = = = - - - = =




AMIEE 9 . TRV
' \ ‘ IKEIK
#%@Fﬂ(ﬁ ZINERFRXK(BHD)

2008702718 2 & EE ¥ 5
i TR TR i
.0 23.0 20.0 8.0 5.0 3.0 26.0 3.0 4.7
0 24.0 19.0 9.0 4.0 5.0 24.0 4.0 14.3
3 78 3 7o 7 7 g2} 0 i
() ) ) ) ) +) -] - |
- - - -] __<0.0003] _<0.0003 <0000 <0000 <0.0003
= = = = <0.00005] _<0.00005
= .00 = .00 = - . 001
= . X = <0.00 = - 00 001
= . X = .00 = - 00 001
= . X = <0.00. = - .00 005
= . X - .00 = - 001 001
7 .7 . 0.61 0.5 0.78 0.83 1.10 0.9
- <0.08 - <0.08] - <0.08 - - <0.08 20.08
= <0.02 - <0.02 = <0.02 = - <0.02 <0.02
—[__<0.0002 —|__<0.0002 =|__<0.0002 = = <0.0002] __<0.0002
= <0.005 - <0.005 = <0.005 = - <0.005 <0.005
= <0.002 - 002 = 0.002 = 002 - 002 002
= <0.001 - 001 = 001 = 001 - 001 001
- <0.003[ - . 003 - <0.003 - . 003 - 003 003
= <0.001 - 001 = 001 = 001 - 001 001
=] ! [s]=] = - - - = = = - - = = - -
[PoEs700X%y B - - - B B B - - B = - -
[FEERILL mg, = - - - = = = - - = = - -]
FILLTILTEF g, - - - - - - - - - - - - -
EF ng = <0. - <0.01 = 0.01 = <0. - <001 <0.01 <001 <0.01
HIE=IN mg, — X - .37 = .09 - X - .02 .37 .02 NE]
mg, 0.06 X 0.13 18 0.07 .09 0.07 X 0.04 .03 .26 .03 q
mg, = <0. - <0.01 - 0.0 - <0. - <0.01 <0.01 <0.01 <0.01
mg, = 4. - 4.7 = . = . - .7 .4 4. 7.7
mg, 0.024 0.0 0.058] 0.028 0.026 0.044 0.014 0.01 0.013 0.01 0. 058] 0.013. 0.025]
mg/ 6.9 5. 9.7 .2 9.1 X 7.4 X 9. X 10.7 8.3
mg, - 17. - - - 25. 2 25.7 167 22.0)
mg, - 5 - - - 68 - 7 67|
mg, bl - 0.02]
mg, <0.000001 <0.000001 <0.00000
mg/ <0.000001 1| <0.000001 <0.00000 <0.000001 00000 <0.000001 <0.1000001]
mg, - <0.002 - X - X X - <0.002
mg, - <0.0005 - <0.0005 - —[__<0.0005 —|__<0.0005] _<0.0005 - <0.0005
mg, 1.6 2.3 15 1.8 1.8 1.5 0.9 1.0 1.0 0.8 0.9 14
58LL Ers. 6507 6.9 6.9 6.9 6.9 6.9 7.0 7.0 7.0 6.9 6.9 6.9 6.9 7.0
BCREWNT = - - - = = = - - - - -
BRI E TR T TR TR TR T TTRE TR TR T RS TR
E SI(F 4 1 5 12 5 4 3 3 2 12
I 20 F] 0.9 Z 11 2.1 12 1 0.9 0.7 0.5 0. 0.6 16 2.5
mg, 001511 - 0.00 - - - 0.00 - - - 000 - - 0,001 X
mg/ 000214 F| —[_<0.000. - - - <0.0002 = - - <0.0002 = - <0.0002 X
mg, 001X = <0.00 - - = <0.001 = - - 0.001 = = <0.001 .
mg/ 005X F = 0.03 - - = <0.005 = - - 0. 005 - - 0.036 X
g, 0. 00411 F| =[_<0.000. - - —|__<0.0004 = - —|__<0.0004 = - <0.0004 X
mg, 210 = 0.0 - - = <0.02 = - - €0.02 = - <0.02 X
mg/ T = <0.0 - - = 0.01 = - - <0.01 = - 0.01 X
mg, - - - - - - - - - - - - - - -]
mg/ i -] - - - -] -] -] - - - - -] -] - -
g, 0.01XF = - - - = = = - - - = - - - -]
mg, 0.0 - - - -] - - - - - - - - = = -
mg/ e -] - - - -] -] -] - - - - - - - |
mg, TOLCET00L - 17.9 - 6.7 - 23. - 24.7 - 25.7 23.8 - 7 16.7 22. q
mg/ 0. 01&" 0.024 0.027 0.058] 0.028 0.026 0.044 0.014 0.017 0.013 0.0T5 0.015 0.016 0.058] 0.013. 0.025)
i g, 2011 - - - - - - - - - - - - - - |
B, 1-F 70018y mg, 0.3L( = <o£| - - = <0.03 = - - <0.03 = - <0.03 <0. <0.03)
B[ XFIV-t-7 F)LT—7JU (IBE) mg, 002X F - <0.002 - - - <0.002 - - - <0.002 - - <0.002 <0.002 <0.002
B|EEmE ) ma/ g_tz“ - - - - - - - - - - - - - - |
ng - - - - - - - - - - - - = - -|
m MD(TZOOQ(" = 53 - 78 = 75 = 70 - 68 59 - 78] 53 67
i 1L 0.9 7.5 T1 2.1 T2 1.2 0.9 0.7 0.5 0.8 0.6 16 2.5 0.5 1.5]
7512 6.9 6.9 6.9 6.9 6.9 7.0 7.0 7.0 6.9 6.9 6.9 6.9 7.0 6.9 6.9)
ma/ 1 HLMEE Lk ) = = = = = — — - = = — = p - -
B mT 200X F - - - - - - - - - - - - - - |
ma/T 0. 1L(F = 0.0 - <0.01 = 0.01 = <0.01 = 0.0 - 001 <001 0.01
ma/[ 01L(F = .2 - .37 B o.% = 043_3 = 0.0 - .37 .g 0.13]
mg/T 0.10 1 014 1T 0. 0. 0. 0.06 0.06 0.1 0.22 .22 .06 0.12
7195 n 94.3 5. 110.9 6.9 107.5 108.7 94.8 100.0 119.5 106. 119.4, 119.5 5.4 103.
kq
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EE i BEEE TERE TERE TERE e
T 10. 17.0 17.0 23.0 .0 20.0 14.0 8.0 5.0 3.0
K 11, 15.0 19.0 24.0 .0 19.0 14.0 9.0 2.0 5.0 8.0
g 0001 0,000, - - - - - 0.0002 - 0.0002 - - =
ng 0.0031X <0.0000 = = - = =|_<0.00001 =[_<0.00001 = = - <0.
mg, 0. 0210 <0. 0000: - - - = = <0. 00002 - <0. 00002 - = - <0.
ng . 0025 —[__<0.0001 —[__<0.0001 —|__<0.0001 —[__<0.0001 —[__<0.0007 __<0.0001 -
ng .o_ﬁos 5 00000 - = - = = 0000 - 00001 - - =
ng . 005 <0.0000 - - - = = . 0000 - 00002 - = =
ng . 003L <0.0000 = = = = = 0000 = 0000 = = -
mq, 0.3(F <0. 0000 - - - = = 0000 - . 0000 - = =
ng 0. 055! <0.0000 - = - = = . 0000 - 0000 = = -
s ng 0. 05L <0.0000 = = = = = 0000 = 0000 = = =
5% LR A DOVP) ng 0. 008% <0.0000 - - - = = . 0000 - 0000 - = =
7 (BPHC) g, 0. 035 <0.0000 - - - = = 0000 - 0000 - = =
07z (CNP mg. 0. 0001 0. 000 - - - = = 0. 000 - 0. 000 - = -
ng 0.0005% <0.000 - = - = = 0.000 - 0.000 = = -
KZ(18P) ng 0.008L <0.0000 = = = = = . 0000 = 0000 = = -
ng 0.004% <0.0000 - - - = = . 0000 - 0000 - = =
ng o_ﬁz 5 <0. 000002 - - - = = <0.000002 =] <0.000002 - - - 0.
mg, 0. 005LLF|_<0. 000005 - - - = -|__<0.000005 =|__<0. 000005 - - - <
ng o.joz > <0.00001 = = = = = 00001 = 00001 = = -
mg, 0. 006X~ <0. 00001 - - - = = 00001 - . 00001 - = =
ng u:ﬁos ) <0.0008 - = - = = 0. 0008 - 00008 = = -
ng 0.001LX <0.00003 = = = = =[__<0.00003 =[__<0.00003 = = = 0.
mg 0. 003%) <0.00005 - - - = —|_<0.00005 —[_<0.00005 - = = <0.
ng 0. 03L) 0.0002 = = = = = 0.0002 = 0.0002 = = -
mg, 0. 002LF <0. 00005 - - - - = . 00005 - . 00005 - = =
ng 0,30 <0.0000 - = - = = . 0000, - . 00002 = = -
ng 0.004L <0.0000 = = = = = 0000 = 00001 = = -
mg 0. 043 <0.0000 - - - = = . 0000 - 00005 - = =
ng 0. 30 0,000 = = - = = 0.000 = 0.0001 = = -
mg, 0. 055(F| <0. 0000 - - - = = <0. 0000: - <0. 00002 - = - <0. ),
ng 0.2 <0.0000 - - - = —[_<0.0000 —[<0.0000 - = - <. X
ng 0. 2LCF|—<0.0000 = = - = —[_<0.0000 —]_<0.0000 = = - 0. X X
ng 0.0: <0.000 - - - = = 0.000 - 0,000 - - - X X X
ng 005X F|[—<0.0000! - - - = —[_<0. 0000 —_<0.0000! - - - <0.00005] _<0. 00005] _<0. 0000
mg, 0. 1 F <0. 0000 - - - = = <0. 0000 - <0. 0000 - - - <0. 0000° <0. 0000° <0. 0000
ng 0.2 0,000 - - - = = 0.000 - 0,000 - = - X X
mg/ 00091 F|—<0. 0000 = = - = = . 0000 = . 0000 = = -
ng . 02LL <0.0000 - - - = = . 0000 - . 0000 - - -
ng 030 K| <0.0000 - - - = = . 0000 - 0000 - - -
ng . 02LUF | <0.0000; = = - = = 0000 = 00002 = = -
ng 011( 0,000 - - - = = 0.000 - 0,000 - = -
mg/ 0 1L( | <0.0000 = = - = = . 0000 = . 0000 = = -
ng 0. 08I <0.0000 - - - = = 0000 - . 0000 - - -
ng 0. 10 F|_<0.0000 - - - = = . 0000 - 0000 - - -
ng 0. 005LLT [ <0.00002 = = - = = 00002 = 00002 = = -
ng 0. 0311 <0.00005 - - - = = 00005 - . 00005 - = -
7 ] mg/ 0. 01LF|<0.00002 = = - = = 00002 = 00002 = = -
Z| FADA) ng 0.05. <0.00002 B B - = = 00002 B . 00002 B = -
*,||17471/T2(1/ T173%, EDDP) ___ma/ 0. 006L(F [ <0.00005 - - - - - 00005 - . 0000 - - -
[SA=EI=p ng 0. 04L( | <0.0000 = = - = = 0000 = 0000 = = -
ik ng 0.1 <0.0000 - - - = = 0000 - . 0000 - = -
II)Ozft v E mg/" 0. 021 F | <0. 0000 - - = = = . 0000 = . 0000 = - -
"‘"7 LF>o0-]U mg, 0.04] <0.0000 - = - = = . 0000 B . 0000 B = -
4‘/7’1:173;1/7<M|Pc) ng/ 0. 01L(F|[<0.00005 - - - - - 00005 - . 00005 - - -
F77 ES I~><§- v ng 0.3L( | <0.00005 = = - = = 00005 = 00005 = = -
,;IIT 1%/ g, 0.2 <0.00002 - - - - - . 0000 = . 00002 = = -
=X ?a%tz(‘mp mg/ 0. 004L(F | <0.0000 - - - = = 0000 - 00001 - - -
ng 0.0: <0.0000 B B - = = . 0000 B . 00002 B = -
mq/ 0. 15T 0. 000 - - - - - 0.000 - 0.000 - - -
ng 0. 005LLF | <0. 0000 = = - = —[_<0.0000 —[_<0.0000 = = -
ng 0. 09 <0.000 - - - = = 0.000 - 0,000 - = -
ng 0. 003L(T | <0. 0000 - - - = —[_<0.0000 —[_<0.0000 - - -
ng 011 <0.0000 B B - = —|_<0.0000! —[_<0.0000" B = -
mq/ . 08I F| <0.00 - - - - - <0.00 - <0.00 - - -
ng 010 [ <0.0000 = = - = —[_<0.0000 —_<0.0000 = = -
ng 051, <0.0000 - - - = = _<0.0000! —[_<0.0000" - = -
T Ty mg/ 0. 005L(F| <0.00 - - - = = <0.00 - <0.00 - - -
DI=P(1[)] g, 0. 0251 <0.000 B B - = —[__<0.000 B 0. 000 B = -
TV FRLT 7Y nq 0. 01L(F|_<0.0000 - - - - =[_<0.0000" —[_<0.0000" - - -
TFror 709X ng 0_0BL{ | <0.00005 B = - = —[_<0.00005 —_<0.00005 = = -
17X (IPP) mg 0. 0011 <0.0000 - - - = —[_<0.0000 —[<0.0000 - - -
TR —F mg/ 2L R <0.0001 - - - = —[__<0.000' - 0,000 - - -
EEPA(Giz2) ng 051 <0.0000 B B - = —|_<0. 0000 B 0000 B - -
VL ng NED <0.0000 - - - = =[_<0.0000; - 0000 - = -
ng . 0210 [ <0.00002 = = - = —[_<0.00002 = 0000 = = -
ng . 04L(F | <0. 000004 - - - = —|<0. 000004 —[<0. 000004 - - - K
ng 03X [ <0.00002 - - - = = 00002 - . 0000 - - -
ng 0. 00311 <0.00002 - - - = = 00002 - 0000 - - -
ng 0,004 <0.00004 - - - = = 00004 - 00004 - - -
ng 00211 <0.0000 B B - = = . 0000 B . 0000 B = -
nq 0. 004L(F[_<0. 0000 - - - - - . 00004 - 00004 - - -
ng 0.055( 000 = = - = = 0.000 = 0.000 = = -
ng 003X <0.000 - - - = = 0.000 - 0,000 - = -
mg 0.81( <0. 0000 - - - = =<0, 0000 —_<0. 0000 - - -
Y ng 0.2L( . = = = = = 0. 000 B 0.000 B = -
N ZV 707 XFIU nq 0. AL{F|__<0.0000 - - - - - . 0000 - 0000 - - - <0. 00001
F IS 55I—I0 ng 0. 0BL( || _<0. 000002 = = - = —[_<0.000002 =] <0.000002 = = - <0. 000002
EAOER ng 000091 <0.00005 - - - = —|_<0.00005 —[_<0.00005 - - - <0.00005
TXEXF TS ng 0. 02X <0.00001 - - - = = __<0.00001 =] <0.00001 - - - <0.00001
FIETALOEY mg 0,511 <0.00002 B B - = —|_<0.00002 —[_<0.00002 B - - <0.00002
(= /02T i mg, 0.006L1 <0.005 - - - - - <0.005 - <0.005 - - - <0.005
REFIU mg, 211 <0.02 = = - = = = 002 0,02 = = - <0.02
KUA—NRE—F ng [ES <0.002 - - - = = <0002 - <0.002 - - - <0.002
IN=N3]%d"] /x FIU mg, 0,311 <0, 00005 - - - = —[__<0.00005 - _<0.00005 - - - <0. 00005
7597 ng, 0. 03L( F||_<0.000002 B B - = —|<0.000002 —[<0.000002 B - - <0. 00000;
9’-7J'~/NI/7 ng 008X <0.00005 - - - = = _<0.00005 —[_<0.00005 - = - <0.00005
JOE1FJ—1U ng 0,055 0. 000 = = - = = 0. 0002 = 0. 0002 = = - 0. 0002
DaE=02 ng 0.3LC <0. 0000 - - - = = 00002 - 00002 - - - . 00002
ZDWISEwES2 mg 0,311 <0.0000 - - - = = 00001 - 00001 - - - <0.00001
FUTNS U g, 00611 <0.0000 B B - = = 00001 B 00001 B - - 00001
A7 JANO—IL ng 0. 0081 0000 - - - = = 00001 - 00001 - = - 00001
Z470-)b ng 0. 0005L(F = - - - = = = - - - = =




AMITER 9 . TH10EE
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2008702718 [ 2008703/10 2 & B E ]
EEEH nﬁaﬁ EEBE ﬁﬁ nﬁnﬁ FRF
22.0 28.0 21. 14.0 9.0 5.0 4.0 10. 26.0 7.0 16.2
19.0 26.0 21 17.0 14.0 8.0 6.0 9. 26.0 6.0 16.3)
7 32 0 0 0 7 EY) 0 5
) - ) O -] ) (=) (=) © - - -
-[_<0.0003 = -[_<0.000. —[_<0.0003] __<0.0003 - <0_000: <0_000: <0.0003]
=] <0.00005 - —[_<0.0000! —|<0.00005]_<0.00005 -]
= . 001 = .00 = .00 = .00 . 001 =
= . 001 = <0.00 = .00 = .00 . 001 =
= .00 = .00 = .00 = 00 001 -
= 005 = <0.00. = 00! = 00 005 =
= 001 - .00 - 001 = 001 001 -]
1.46 1.19 1.56 1.3 153 T. 64 1.78] 214 1.91 217
= - <0.08] = <0.08 = <0.08] - 20.08 <0.08 =
= = 0.02 = 0.02 = <0.02 = <0.02 0.02 -
= -[_<0.0002 —[__<0.0002 - <0.0002 —[_<0.0002] __<0.0002 -
- = <0.005. - <0.005 - <0.005 = <0.005 <0.005 -]
= = 002 = <0002 = 002 = 002 002 =
= = 001 = 001 = 001 = 001 001 =
= = 003 = <0.003 = 003 = 003 003 =
= = . 001 = <0.001 = 001 = 001 001 -
glfJZoo = = = = = = = = = = - -
[ZoEsZ00xEY - - - - - - - - - - - -
[FaEFRILL mg, =] = - - -] -] -] = = = = 7]
FILLTILTEF g, - - - - - - - - - - - -
B ng = 0. = <0.01 = < = K< = X 01 =
FINE=DL ng = <0. - <0.07 = < = < - X .02 -
ng <001 <0. <0.0 <0.01 < <001 < 001 X .0 0,01
ng = <0. <0.0 = < = < - X .0 =
ng = 4. = 8 = 4, 9. =
ng <0005 <0.00 0005 <0.00 <0005 <0.00 <0005 <0.00 <0.00. <0005
mg/ 12 10. 1.5 13.0 15. T 16.0
ng = 20. = 31 = 31, - 38, 31 =
ng = 11 = 11 = 10 = 12 113 -
mg, . el 5
ng X <0.000001
mg/ X <0.000007 <0.000001
mg, el 5 = . el
ng - <0.0005 -~ <0.0005 = - <0.0005 - <0.0005]<0.0005 -
ng 0.7 0.9 0.7 0.7 0.9 0.6 0.8 0.6 0. 0.6 1.0
5,81 Ers. 3%; 6.2 6.3 6.2 6.2 6.2 6.2 6.2 6.2 6.5 6.7 6.3
BTIELNT - - - -] - - - — - -
EETHLCE L] = 1] R ER BWE B B ER B ER
E SI(F 1 1 2 1 1 <1 1 1 1
= 2T <01 <0 <01 0.1 <01 <01 0.1 <01 <0. 01 01 X
ng 0.0151 = 0,00 - - = = - - 0.00 = =
mg/ 0. 002L(F| = <0.000: = - = = = - <0.0002 = -
ng 001X = <0.00 = = = = = = 0.001 = =
mg/ 0. 05L(F| = <000 = = = = = = 0.005 = -
ng 0. 004L(F| —[_<0.000: = - = = = - <0.0004 = -
ng . 251 = <0.0. = - = = = = <0.02 = = X
mg/ T = <0.0 = - = = = = <0.01 = = X
mg, - - - - - - - - - - - - - - -]
mg/ i -] - - - -] -] -] - - - - -] -] - -
ng 0. 01L(F| = = = - = = = = = = = - - = -
mg, 0.0 - - - -] - - - - - - - - = = -
mg/ e -] - - - -] =] -] - - - - - - - |
ng TOL{ L1001 = 16 = = 31, = 315 = 381 317 = 381 0 29
mg/ 0. 01& T <0.005 <0.005 <0005 <0.005 0005 <0.005 <0005 <0.005 <0005 <0.005 <0.005 <0005 0.005 <0. 005 <0.005]
z ng 200 F = - - - - = = - - - - - = - -
E[L11-rI7O0TEy ng 031 = <0£| = - = <003 = = = 0,03 = = <003 <003 <0.03
B XFIV-t=J FILT—7 )L (NBE] ng 0.02L(F| = <0.002 = - = <0.002 = - = <0.002 - - <0.002 <0.002 <0.002
B|EEmE ) ma/ g_tz“ - - - - - - - - - - - - - - |
ng - - - - - - - - - - - - - = -|
m MD(TZOOQ(" = 9_0| - 116, = 112 = 107 - 120 113 - 120 90 T10)
i 15 0.1 0.1 Q01 Q0.1 0.1 0.1 0.1 0.1 Q01 Q.1 Q.1 Q01 Q0.1 Q0.1
7. 512 2| 6.2 6.3 6.2 6.2 6.2 6.2 6.2 6.2 6.2 6.5 6.7 6.3 6.7 6.2 6.3]
ma/ 1 HLMEE Lk ) = = = = = = = = = = — = p- = =
omT 20002LF| = = = - = | = = = = = - = = -]
ma/T 01T = <001 = 0.01 = <0.01 = <0.01 = 0.01 0.01 - <001 <0.01 0.01
o/ 01T = <0.07 - <0.02 = <0.02 = <0.02 - <0.02 <0.02 - <0.02 <0.07 <0.02
mg/T 0,01 .07 0.04 0.07 0.03 .09 0.05 0.05 001 .03 03 0,03 .09] <001 0.
us/cm 189.2 150.0 799.0 171.2 188.0 170.2 146.2 160.0 213.0 240.0 207.0 248.0 248.0 146.2 190.2)
Z|
o)
it

_40_
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p:) T 2. 18.0 22.0 28.0 .0 21.0 14.0 9.0 5.0 4.0 10.0
K K 13, 16.0 19.0 26.0 .0 21.0 17.0 14.0 8.0 6.0 9.0
g 0001 0,000, - - - - - 00002 - 00002 - - = 0
ng 0.0031X <0.0000 = = - = =|_<0.00001 =[_<0.00001 = = - <0.
mg, 0. 0210 <0. 0000: - - - = = <0. 00002 - <0. 00002 - = - <0.
ng . 0025 —[__<0.0001 —[__<0.0001 —|__<0.0001 —[__<0.0001 —[__<0.0007 __<0.0001 -
ng .o_ﬁos 5 00000 - = - = = 0000 - 00001 - - =
ng . 005 <0.0000 - - - = = . 0000 - 00002 - = =
ng . 003L <0.0000 = = = = = 0000 = 0000 = = -
mq, 0.3(F <0. 0000 - - - = = 0000 - . 0000 - = =
ng 0. 055! <0.0000 - = - = = . 0000 - 0000 = = -
s ng 0. 05L <0.0000 = = = = = 0000 = 0000 = = =
RZDDVP) ng 0. 008% <0.0000 - - - = = . 0000 - 0000 - = =
7 (BPHC) g, 0. 035 <0.0000 - - - = = 0000 - 0000 - = =
07z (CNP mg. 0. 0001 0. 000 - - - = = 0. 000 - 0. 000 - = -
ng 0.0005% <0.000 - = - = = 0.000 - 0.000 = = -
KZ(18P) ng 0.008L <0.0000 = = = = = . 0000 = 0000 = = -
ng 0.004% <0.0000 - - - = = . 0000 - 0000 - = =
ng o_ﬁz 5 <0.000002 - - - = = <0.000002 =] <0.000002 - - - 0.
mg, 0. 005LLF|_<0. 000005 - - - = -|__<0.000005 =|__<0. 000005 - - - <
ng o.joz > <0.00001 = = = = = 00001 = 00001 = = -
mg, 0. 006X~ <0. 00001 - - - = = 00001 - . 00001 - = =
ng u:ﬁos ) <0.0008 - = - = = 0. 0008 - 00008 = = -
ng 0.001LX <0.00003 = = = = =[__<0.00003 =[__<0.00003 = = = 0.
mg 0. 003%) <0.00005 - - - = —|_<0.00005 —[_<0.00005 - = = <0.
ng 0. 03L) 0.0002 = = = = = 0.0002 = 0.0002 = = -
mg, 0. 002LF <0. 00005 - - - - = . 00005 - . 00005 - = =
ng 0,30 <0.0000 - = - = = . 0000, - . 00002 = = -
ng 0.004L <0.0000 = = = = = 0000 = 00001 = = -
mg 0. 043 <0.0000 - - - = = . 0000 - 00005 - = =
ng 0. 30 0,000 = = - = = 0.000 = 0.0001 = = -
mg, 0. 055(F| <0. 0000 - - - = = <0. 0000: - <0. 00002 - = - <0. ),
ng 0.2 <0.0000 - - - = —[_<0.0000 —[<0.0000 - = - <. X
ng 0. 2LCF|—<0.0000 = = - = —[_<0.0000 —]_<0.0000 = = - 0. X X
ng 0.0: <0.000 - - - = = 0.000 - 0,000 - - - X X X
ng 005X F|[—<0.0000! - - - = —[_<0. 0000 —_<0.0000! - - - <0.00005] _<0. 00005] _<0. 0000
mg, 0. 1 F <0. 0000 - - - = = <0. 0000 - <0. 0000 - - - <0. 0000° <0. 0000° <0. 0000
ng 0.2 0,000 - - - = = 0.000 - 0,000 - = - X X
mg/ 0. 009L(F | <0. 0000 = = - = = . 0000 = . 0000 = = -
ng . 02LL <0.0000 - - - = = . 0000 - . 0000 - - -
ng 030 K| <0.0000 - - - = = . 0000 - 0000 - - -
ng 020 | <0.0000; = = - = = 0000 = 00002 = = -
ng 011( 0,000 - - - = = 0.000 - 0,000 - = -
mg/ 0 1L( | <0.0000 = = - = = . 0000 = . 0000 = = -
ng 0. 08I <0.0000 - - - = = 0000 - . 0000 - - -
ng 0. 10 F|_<0.0000 - - - = = . 0000 - 0000 - - -
ng 0. 005LLT [ <0.00002 = = - = = 00002 = 00002 = = -
ng 0. 0311 <0.00005 - - - = = 00005 - . 00005 - = -
7 ] mg/ 0. 01LF|<0.00002 = = - = = 00002 = 00002 = = -
Z| FADA) ng 0.05. <0.00002 B B - = = 00002 B . 00002 B = -
*,||17471/T2(1/ T173%, EDDP) ___ma/ 0. 006L(F [ <0.00005 - - - - - 00005 - . 0000 - - -
[SA=EI=p ng 0. 04L( | <0.0000 = = - = = 0000 = 0000 = = -
ik ng 0.1 <0.0000 - - - = = 0000 - . 0000 - = -
II)Ozft v E mg/" 0. 021 F | <0. 0000 - - = = = . 0000 = . 0000 = - -
"‘"7 LF>o0-]U mg, 0.04] <0.0000 - B - = = . 0000 B . 0000 B = -
4‘/7’1:173;1/7<M|Pc) ng/ 0. 01L(F|[<0.00005 - - - - - 00005 - . 00005 - - -
F77 ES I~><§- v ng 0.3L( | <0.00005 = = - = = 00005 = 00005 = = -
,;IIT 1%/ g, 0.2 <0.00002 - - - - - . 0000 = . 00002 = = -
=X ?a%tz(‘mp mg/ 0. 004L(F | <0.0000 - - - = = 0000 - 00001 - - -
ng 0.0: <0.0000 B B - = = . 0000 B . 00002 B = -
mq/ 0. 15T 0. 000 - - - - - 0.000 - 0.000 - - -
ng 0. 005LLF | <0. 0000 = = - = —[_<0.0000 —[_<0.0000 = = -
ng 0. 09 <0.000 - - - = = 0.000 - 0,000 - = -
ng 0. 003L(T | <0. 0000 - - - = —[_<0.0000 —[_<0.0000 - - -
ng 011 <0.0000 B B - = —|_<0.0000! —[_<0.0000" B = -
mq/ . 08I F| <0.00 - - - - - <0.00 - <0.00 - - -
ng 010 [ <0.0000 = = - = —[_<0.0000 —_<0.0000 = = -
ng 051, <0.0000 - - - = = _<0.0000! —[_<0.0000" - = -
T Ty mg/ 0. 005L(F| <0.00 - - - = = <0.00 - <0.00 - - -
DI=P(1[)] ng 0. 0251 <0.000 B B - = —[__<0.000 B 0. 000 B = -
TV FRLT 7Y nq 0. 01L(F|_<0.0000 - - - - =[_<0.0000" —[_<0.0000" - - -
TFror 709X ng 0_0BL{ | <0.00005 B = - = —[_<0.00005 —_<0.00005 = = -
17X (IPP) mg 0. 0011 <0.0000 - - - = —[_<0.0000 —[<0.0000 - - -
TR —F mg/ 2L(F[<0.000 - - - = —[__<0.000' - 0,000 - - -
EEPA(Giz2) ng 051 <0.0000 B B - = —|_<0. 0000 B 0000 B - -
VL ng NED <0.0000 - - - = =[_<0.0000; - 0000 - = -
ng . 0210 [ <0.00002 = = - = —[_<0.00002 = 0000 = = -
ng . 04L(F | <0. 000004 - - - = —|<0. 000004 —[<0. 000004 - - - K
ng 03X [ <0.00002 - - - = = 00002 - . 0000 - - -
ng 0. 00311 <0.00002 - - - = = 00002 - 0000 - - -
ng 0,004 <0.00004 - - - = = 00004 - 00004 - - -
ng 00211 <0.0000 B B - = = . 0000 B . 0000 B = -
nq 0. 004L(F[_<0. 0000 - - - - - . 00004 - 00004 - - -
ng 0.055( 000 = = - = = 0.000 = 0.000 = = -
ng 003X <0.000 - - - = = 0.000 - 0,000 - = -
mg 0.81( <0. 0000 - - - = =<0, 0000 —_<0. 0000 - - -
Y ng 0.2L( . = = = = = 0. 000 B 0.000 B = -
N ZV 707 XFIU nq 0. AL{F|__<0.0000 - - - - - . 0000 - 0000 - - - <0. 00001
F IS 55I—I0 ng 0. 0BL( || _<0. 000002 = = - = —[_<0.000002 =] <0.000002 = = - <0. 000002
EAOER ng 000091 <0.00005 - - - = —|_<0.00005 —[_<0.00005 - - - <0.00005
TXEXF TS ng 0. 02X <0.00001 - - - = = __<0.00001 =] <0.00001 - - - <0.00001
FIETALOEY mg 0,511 <0.00002 B B - = —|_<0.00002 —[_<0.00002 B - - <0.00002
(= /02T i mg, 0.006L1 <0.005 - - - - - <0.005 - <0.005 - - - <0.005
REFIU mg, 211 <0.02 = = - = = = 002 0,02 = = - <0.02
KUA—NRE—F ng [ES <0.002 - - - = = <0002 - <0.002 - - - <0.002
IN=N3]%d"] /x FIU mg 0,311 <0, 00005 - - - = —[__<0.00005 - _<0.00005 - - - <0. 00005
7597 ng, 0. 03L( F||_<0.000002 B B - = —|<0.000002 —[<0.000002 B - - <0. 00000;
9’-7J'~/NI/7 ng 008X <0.00005 - - - = = _<0.00005 —[_<0.00005 - = - <0.00005
JOE1FJ—1U ng 0,055 0. 000 = = - = = 0. 0002 = 0. 0002 = = - 0. 0002
DaE=02 ng 031 <0.0000 - - - = = 00002 - 00002 - - - . 00002
ZDWISEwES2 mg 0,311 <0.0000 - - - = = 00001 - 00001 - - - <0.00001
FUTNS U g, 00611 <0.0000 B B - = = 00001 B 00001 B - - 00001
A7 JANO—IL ng 0. 0081 0000 - - - = = 00001 - 00001 - = - 00001
Z470-)b ng 0. 0005L(F = - - - = = = - - - = =
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x& i FEEE BE L RfE
Py T 12. 18.0 22.0 5.0 4. 10.
Kt K 14. 16.0 20.0 6.0 5. 9.
0 0 0
= (=) (O] (=) ) =) (=) ©
-[__<0.0003 -|___<0.0003 - <0.0003 <0.0003 -
—|__<0.00005 —|__<0.00005 = <0.00005] _<0.00005 -
= 0.00 - 001 = . 001 -
= <0.00 - 001 = 00 001 =
= <0.00 - 001 = 00 001 =
= <0. 00! - 005 = 00! 005 -
= <0.00 - 001 = 00 001 =
116 0.88 1.07 0.84 0.75 1.45 1.29 1.29
- <0.08 - <0.08] - X -
= <0.02 - <0.02 = =
—[__<0.0002 —|__<0.0002 = =
= <0.005 - <0.005 = -
= <0.002 - 002 = =
= <0.001 - 001 = =
- <0.003[ - . 003 - -
= <0.001 - 001 = =
- - - - 0.00 =
= <0.002 - <0.002 - -
- . 013 - . 008] - -
= . 006 - 0.0 = =
= <0.00 - .00 = =
= <0.00 - <0.00 = =
mg, - .01 - .01 = -
gl(FUJZoo mg, - 0.0; - 0.02 - -
PEESZ00X%m> mg, = 0.00 - . 006 = -
[FEERLL mg, = <0.00 - <0.001 = =
FILLTILTEF mg, - <0. 008 - <0.008[ - -
E mg - <0. - . 01 - -
ZIVS=TL g, -] <0. - . 02 -] -
mg, <0.01 <0. <0.01 0.0 <0.01 <0.01
mg, -] <0. - 0.0 -
mg, = 0. -
mg, <0005 <0.005
mg/ 12.8 15.1
mg, = =
mg d hd
ng d hd
mg, <0.000001 <0.000001
mg/ <0.000001 <0.000001
mg. -l
mg, <0.0005 -
mg, 0.8 X 0.8
5 BLLEB. 6L 6.9 X 6.8
BERECBLT = = 7]
BRI E g
E S <1 < 1 <1 <1 <1 <1 <1 <1
I 20T 0.1 <0, <01 1 X 0.1 0.1 0.1 0.1
mg, 001511 - 00 - - = 0. 001 - - - - - 0,001 0. 001 0. 001
mg/ 000214 F| —[_<0.000. - - - <0.0002 = - - = - <0.0002]<0.0002] <0.0002|
mg, 001X = <0.00 - - = <0.001 = - - = = <0.001 <0.001 0.001
mg/ 005X F = <0.00! - - = <0.005 = - - - - <0.005 <0.005 0. 003)
g, 0. 00411 F| =[__<0.000. - - —|__<0.0004 = - - = - <0.0004] __<0.0004] __<0.0004]
mg, 210 = 0.0 - - = <0.02 = - - = - 0.02 002 <0.02)
mg/ T -] - - - -] -] -] - - - - -] -] - -
mg, - - - - - - - - - - - - - - -]
mg/ i -] - - - -] -] -] - - - - -] -] - -
g, 0. 01T = <0.00 - - = <0.00 = - - <0001 = - <0001 <0.00
mg, 0.0 - <0.00; - - - <0.00; - - - <0.002 - - <0.002 <0.00:
mg/ e 0.6 0. 0.6 0.7 0.6 0. 0.4 0.7 0.7 0.7 0.7 0.7 0.7 0.4
mg, TOLLE 1001 - 23. - 20.0 - 26. - 29.2 - 51.4 29.1 - 51.4 20.
mg/ 0. 01T <0.005 <0.00' <0.005 <0.005 <0.005 <0.00 <0.005 <0.005 <0005 <0.005 <0.005 <0.005 <0.005 <0.00!
i g, 205(F - 4. - - - 3, - - - 2.4 - - 4.4 3.5
B, 1-F 70018y mg, 0.3L( = <0.03] - - = 0.03 = - - <003 = - <0.03 <0.03.
B[ XFV-t-7 F)LT—7JU (IBE) mg, 002X F - <0.002 - - - <0.002 - - - <0.002 - - <0.002 <0.002
B|EEmE ) ma/ 3_}1:1_» - - - - - - - - - - - - - - |
mg - - - - - - - - - - - - = =) -|
m MD(TZOOQ(" = 5 - 87 = 9 = 59 = 92 76 - 9. 59 7
i 1L 0.1 <0. 0.1 0.1 <01 <0. 0.1 <0.1 0.1 0.1 0.1 0.1 <0. <0.1 <0
7512 6.8 6. 6.9 6.9 6.9 6. 6.9 6.9 6.9 6.9 6.7 6.8 6 6.7 6
ma/ | 1R 28 EE L0l D1 3] - -2, - - - -2, - - - -2.4 - -~ -2 -2.5 -2,
B mT 200X F - - - - - - - - - - - - - - |
ma/T 0. 1L(F = <0.01 - <0.01 = 0.01 = <0.01 - <0.01 <0.01 - <0.01 <0.01 <0.01
ma/[ 01L(F = <0.02 - <0.02 = 0.0 = <0.02 - <0.02 <0.02 - 0.02 <0.02 <0.02)
mg/T - - - - - - - - - - - - = = -|
7195 n 116.7 106.8 132.4 128.8 146.2 129.8 119.2 121.0 44,7 148.2 135.7 140.2 148.2 106.8. 130.8]
kq
o)
it
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[ 2008701721 [ 2008702718 | 2008703710 =
BB BHR EEEH BHEH Eﬁna nﬁnﬁ FRIF
T 2. 18.0 22.0 28.0 .0 21.0 13.0 9.0 5.0 4.0 10.0
K 14, 16.0 20.0 27.0 .0 20.0 15.0 T1.0 6.0 5.0 9.0
g 0001 0,000, - - - - - 00002 - 00002 - - = 0
ng 0.0031X <0.0000 = = - = =|_<0.00001 =[_<0.00001 = = - <0.
mg, 0. 0210 <0. 0000: - - - = = <0. 00002 - <0. 00002 - = - <0.
ng . 0025 —[__<0.0001 —[__<0.0001 —|__<0.0001 —[__<0.0001 —[__<0.0007 __<0.0001 -
ng .o_ﬁos 5 00000 - = - = = 0000 - 00001 - - =
ng . 005 <0.0000 - - - = = . 0000 - 00002 - = =
ng . 003L <0.0000 = = = = = 0000 = 0000 = = -
mq, 0.3(F <0. 0000 - - - = = 0000 - . 0000 - = =
ng 0. 055! <0.0000 - = - = = . 0000 - 0000 = = -
s ng 0. 05L <0.0000 = = = = = 0000 = 0000 = = =
5% LR A DOVP) ng 0. 008% <0.0000 - - - = = . 0000 - 0000 - = =
7 (BPHC) g, 0. 035 <0.0000 - - - = = 0000 - 0000 - = =
07z (CNP mg. 0. 0001 0. 000 - - - = = 0. 000 - 0. 000 - = -
ng 0.0005% <0.000 - = - = = 0.000 - 0.000 = = -
KZ(18P) ng 0.008L <0.0000 = = = = = . 0000 = 0000 = = -
ng 0.004% <0.0000 - - - = = . 0000 - 0000 - = =
ng o_ﬁz 5 <0. 000002 - - - = = <0.000002 =] <0.000002 - - - 0.
mg, 0. 005LLF|_<0. 000005 - - - = -|__<0.000005 =|__<0. 000005 - - - <
ng o.joz > <0.00001 = = = = = 00001 = 00001 = = -
mg, 0. 006X~ <0. 00001 - - - = = 00001 - . 00001 - = =
ng u:ﬁos ) <0.0008 - = - = = 0. 0008 - 00008 = = -
ng 0.001LX <0.00003 = = = = =[__<0.00003 =[__<0.00003 = = = 0.
mg 0. 003%) <0.00005 - - - = —|_<0.00005 —[_<0.00005 - = = <0.
ng 0. 03L) 0.0002 = = = = = 0.0002 = 0.0002 = = -
mg, 0. 002LF <0. 00005 - - - - = . 00005 - . 00005 - = =
ng 0,30 <0.0000 - = - = = . 0000, - . 00002 = = -
ng 0.004L <0.0000 = = = = = 0000 = 00001 = = -
mg 0. 043 <0.0000 - - - = = . 0000 - 00005 - = =
ng 0. 30 0,000 = = - = = 0.000 = 0.0001 = = -
mg, 0. 055(F| <0. 0000 - - - = = <0. 0000: - <0. 00002 - = - <0. ),
ng 0.2 <0.0000 - - - = —[_<0.0000 —[<0.0000 - = - <. X
ng 0. 2LCF|—<0.0000 = = - = —[_<0.0000 —]_<0.0000 = = - 0. X X
ng 0.0: <0.000 - - - = = 0.000 - 0,000 - - - X X X
ng 005X F|[—<0.0000! - - - = —[_<0. 0000 —_<0.0000! - - - <0.00005] _<0. 00005] _<0. 0000
mg, 0. 1 F <0. 0000 - - - = = <0. 0000 - <0. 0000 - - - <0. 0000° <0. 0000° <0. 0000
ng 0.2 0,000 - - - = = 0.000 - 0,000 - = - X X
mg/ 00091 F|—<0. 0000 = = - = = . 0000 = . 0000 = = -
ng . 02LL <0.0000 - - - = = . 0000 - . 0000 - - -
ng 030 K| <0.0000 - - - = = . 0000 - 0000 - - -
ng 020 | <0.0000; = = - = = 0000 = 00002 = = -
ng 011( 0,000 - - - = = 0.000 - 0,000 - = -
mg/ 0 1L( | <0.0000 = = - = = . 0000 = . 0000 = = -
ng 0. 08I <0.0000 - - - = = 0000 - . 0000 - - -
ng 0. 10 F|_<0.0000 - - - = = . 0000 - 0000 - - -
ng 0. 005LLT [ <0.00002 = = - = = 00002 = 00002 = = -
ng 0. 0311 <0.00005 - - - = = 00005 - . 00005 - = -
7 ] mg/ 0. 01LF|<0.00002 = = - = = 00002 = 00002 = = -
Z| FADA) ng 0.05. <0.00002 B B - = = 00002 B . 00002 B = -
*,||17471/T2(1/ T173%, EDDP) ___ma/ 0. 006L(F [ <0.00005 - - - - - 00005 - . 0000 - - -
[SA=EI=p ng 0. 04L( | <0.0000 = = - = = 0000 = 0000 = = -
ik ng 0.1 <0.0000 - - - = = 0000 - . 0000 - = -
II)Ozft v E mg/" 0. 021 F | <0. 0000 - - = = = . 0000 = . 0000 = - -
"‘"7 LF>o0-]U mg, 0.04] <0.0000 - B - = = . 0000 B . 0000 B = -
4‘/7’1:173;1/7<M|Pc) ng/ 0. 01L(F|[<0.00005 - - - - - 00005 - . 00005 - - -
F77 ES I~><§- v ng 0.3L( | <0.00005 = = - = = 00005 = 00005 = = -
,;IIT 1%/ g, 0.2 <0.00002 - - - - - . 0000 = . 00002 = = -
=X ?a%tz(‘mp mg/ 0. 004L(F | <0.0000 - - - = = 0000 - 00001 - - -
ng 0.0: <0.0000 B B - = = . 0000 B . 00002 B = -
mq/ 0. 15T 0. 000 - - - - - 0.000 - 0.000 - - -
ng 0. 005LLF | <0. 0000 = = - = —[_<0.0000 —[_<0.0000 = = -
ng 0. 09 <0.000 - - - = = 0.000 - 0,000 - = -
ng 0. 003L(T | <0. 0000 - - - = —[_<0.0000 —[_<0.0000 - - -
ng 011 <0.0000 B B - = —|_<0.0000! —[_<0.0000" B = -
mq/ . 08I F| <0.00 - - - - - <0.00 - <0.00 - - -
ng 010 [ <0.0000 = = - = —[_<0.0000 —_<0.0000 = = -
ng 051, <0.0000 - - - = = _<0.0000! —[_<0.0000" - = -
T Ty mg/ 0. 005L(F| <0.00 - - - = = <0.00 - <0.00 - - -
DI=P(1[)] ng 0. 0251 <0.000 B B - = —[__<0.000 B 0. 000 B = -
TV FRLT 7Y nq 0. 01L(F|_<0.0000 - - - - =[_<0.0000" —[_<0.0000" - - -
TFror 709X ng 0_0BL{ | <0.00005 B = - = —[_<0.00005 —_<0.00005 = = -
17X (IPP) mg 0. 0011 <0.0000 - - - = —[_<0.0000 —[<0.0000 - - -
TR —F mg/ 2L(F[<0.000 - - - = —[__<0.000' - 0,000 - - -
EEPA(Giz2) ng 051 <0.0000 B B - = —|_<0. 0000 B 0000 B - -
VL ng NED <0.0000 - - - = =[_<0.0000; - 0000 - = -
ng . 0210 [ <0.00002 = = - = —[_<0.00002 = 0000 = = -
ng . 04L(F | <0. 000004 - - - = —|<0. 000004 —[<0. 000004 - - - K
ng 03X [ <0.00002 - - - = = 00002 - . 0000 - - -
ng 0. 00311 <0.00002 - - - = = 00002 - 0000 - - -
ng 0,004 <0.00004 - - - = = 00004 - 00004 - - -
ng 00211 <0.0000 B B - = = . 0000 B . 0000 B = -
nq 0. 004L(F[_<0. 0000 - - - - - . 00004 - 00004 - - -
ng 0.055( 000 = = - = = 0.000 = 0.000 = = -
ng 003X <0.000 - - - = = 0.000 - 0,000 - = -
mg 0.81( <0. 0000 - - - = =<0, 0000 —_<0. 0000 - - -
Y ng 0.2L( . = = = = = 0. 000 B 0.000 B = -
N ZV 707 XFIU nq 0. AL{F|__<0.0000 - - - - - . 0000 - 0000 - - - <0. 00001
F IS 55I—I0 ng 0. 0BL( || _<0. 000002 = = - = —[_<0.000002 =] <0.000002 = = - <0. 000002
EAOER ng 000091 <0.00005 - - - = —|_<0.00005 —[_<0.00005 - - - <0.00005
TXEXF TS ng 0. 02X <0.00001 - - - = = __<0.00001 =] <0.00001 - - - <0.00001
FIETALOEY mg 0,511 <0.00002 B B - = —|_<0.00002 —[_<0.00002 B - - <0.00002
(= /02T i mg, 0.006L1 <0.005 - - - - - <0.005 - <0.005 - - - <0.005
REFIU mg, 211 <0.02 = = - = = = 002 0,02 = = - <0.02
KUA—NRE—F ng [ES <0.002 - - - = = <0002 - <0.002 - - - <0.002
IN=N3]%d"] /x FIU mg 0,311 <0, 00005 - - - = —[__<0.00005 - _<0.00005 - - - <0. 00005
7597 ng, 0. 03L( F||_<0.000002 B B - = —|<0.000002 —[<0.000002 B - - <0. 00000;
9’-7J'~/NI/7 ng 008X <0.00005 - - - = = _<0.00005 —[_<0.00005 - = - <0.00005
JOE1FJ—1U ng 0,055 0. 000 = = - = = 0. 0002 = 0. 0002 = = - 0. 0002
DaE=02 ng 0.3LC <0.0000 - - - = = 00002 - 00002 - - - . 00002
ZDWISEwES2 mg 0,311 <0.0000 - - - = = 00001 - 00001 - - - <0.00001
FUTNS U g, 00611 <0.0000 B B - = = 00001 B 00001 B - - 00001
A7 JANO—IL ng 0. 0081 0000 - - - = = 00001 - 00001 - = - 00001
Z470-)b ng 0. 0005L(F = - - - = = = - - - = =
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[ 2008705 13 200871105 | 2008712701 2009703709 E & E E B
Sl -1 i R 3L i 111 BE 1
°C 14. 26. 0 29.0 13.0 9.0 10.0 29.0 16.2|
K 13. 24.0 24.0 12.0 8.0 10.0 24.0 14. ﬂ|
] T 175 7096 5T6 %) T120] %E'Q 1750 )
MPN_100m[ 0,91 € (] ) (+) (O] (+) +) -] - -
ng 0.0 - <0.00 - <0001 - <0.001 <0.00 - - 00 <0. <0001
mg, 0. 000! - <0. 0000! - <0. 00005 - - <0. 0000! - - <0. 0000 <0. 0000 <0. 00005
mg, . - <0. 00 - . 001 - <0.001 . 00° - - <0. 00° <0.00 . 001
mg, . - <0. 00 - . 001 - - <0.001 . 00° - - <0. 00° <0.00 . 001
mg, - <0. 00 - . 001 - - <0.001 . 00° - - <0. 00° <0.00 . 001
g ¥ - <0. 00! - . 005 - - <0.005 . 00! - - <0. 00! <0. 005, . 005
mg, - <0. 00 - . 001 - <0.001 - . 001 - - <0.001 <0.001 . 001
mg, 0L/ 1.09 1.13 0.80 0.71 0.66 . 98 0.75 0.69 1.05 T.04] 1.21 0. 66 0.92]
mg, 0.8 = <0.08] - <0..08] = <0.08 = <0. 08] - = <0.08] <0.08[ <0.08]
mg, 1L - <0.02 - <0.02 - <0.02 <0.02 - - <0.02 <0. 02 <0. 02|
ng 0.002(F| - <0. 0002 - <0. 0002 - <0. 0002 - <0. 0002 - 000. - <0. 0002 <0. 0002 <0. 0002
mg, . 055 - <0. 005 - . 005 - <0. 005 - . 005 - . 00! . 005 - <0. 005 <0. 005 005]
mg, . 021 - <0. 002 - . 002 - . 002 - . 002 - . 00; . 002 - <0. 002 <0.002 002
mg, . 047 - <0. 004 - . 004 - <0.004 - . 004 - . 00/ . 004 - <0. 004 <0.004 004]
mg, . 021 - <0. 00; - . 002 - . 002 - . 00; - . 00; . 002 - <0. 002 <0.002 002
ng . 0L = <0.00 = . 001 - <0.001 = .00 = .00 007 - <0.001 <0.001 001
mg, . 031 - <0. 00: - . 003’ - . 003 - . 00; - . 00 . 003 - <0. 003 <0.003 003]
g 0T - <0.00 - . 001 - <0.001 - . 00 - . 00 . 001 - <0.001 <0.001 001
mg, 0. 65 - - - -] - - - - - - - -] -]
mg 0. 02 - - - - - - - - - - - -
mg, 0. 06: - - - -] - - - - - - - - - = -]
mg, 0.041 - - - - - - - - - - - - - - -|
g 0. 15(F] - - - - - - - - - - - - - - -
mg, 0. 01B(F| - - - -] - - - - - - - - - -] -]
mg 0. - - - - - - - - - - - - - = -
mg, 0. - - - -] - - - - - - - - - = -]
mg, 0. 035 - - - - - - - - - - - - - - -|
g 0. 09 F - - - - - - - - - - - - - - -]
mg, 0. 08L( - - - - - - - - - - - - - - -
mg, TXF] - <0. - <0.01 - - <0. <0.01 - . <0.01 - <0.01 <0.01
mg, 0. 25 - . - . 04 - - . .14 - . . 09 - . 04 . 13]
mg, 0.3XF 0.07 0.08 . 07 0.10 0.09 . . 08| 0.09 . . 1 0.06 . 06 . 10}
ng, 1ELF] - < - <0. - = <0. <0.0 - <0. <0.0° - < <0.0 <0.0T
mg, 20051 - - 5, - . 2 - 4 . - . 7.0]
mg/ 0. 05X F 0.044 0. 02! 0.027 0.024 0.058 0. 040 0.059 0.027 0. 0¢ 0.024 0.037|
mg, 2001 5.7 4.1 6. 6.5 Wi 5.3 5. 10.8][ 6.3]
ESRIR mg, 30014 F| - 2! - 7. - - - 26.4 17. 22.3)
mg, 500BLF - 1 - 69 - - 8 -
b mg, 0.2 - . . . . -
P mg/ 0. 00001L4 T} <0. 000001 0000 <0. 000001
DENEY. =] mg, 0. 00001 <0. 000001 < 1 0000 <0. 000001
i ] mg, 0. 0254 F | - . 0. 002 - . 002 -
3 mg, 0. 00554 F | - <0. 0005 - <0. 0005 - - <0. 0005 - -
mg, 5. 1.0 0.9 0.6 0.6’ 0.8 1.0 0.9 1.3 1 0.6
5.8 F8. 6147 6.9 6.9 6.9 6.9’ 6.9 6.8 6.9 6.9
T JER NEER JER JERR JEER JIERR
E SLLF 1 4 4 6] H 7 3 4 5
20T 4. 1.6 0.6 1.0 1.2 2.4 0.7 1.4 2. 2.0 1.1
mg, 0. 0155 - 0.00 - - - - - - - 0.00 - -
mg, 0. 002: - <0. 000 - - - - - - - <0. 0002 - -
mg/ 0. 0154 F| - 0. 00 - - - - - - - 0.001 - -
ng 0. 05 F - 0.01 - - - <0. 005 - - - 0.033 - -
. mg, 0. 004! - <0. 000: - - - <0. 0004 - - - <0. 0004 - -
ZVA-1,2-7700IF L mg/ 0. 0454 | - <0. 00: - - - <0. 004 - - - <0. 004 - -
ha2-FuZooxz> mg, 0. 0062 - <0. 0006 - - - <0. 0006 - - - <0. 0006 - -
> m/ . 2B(F = <0.02 = - = <0.02 = - = <0.02 = -
ng 1L F - <0.01 - - - <0.01 - - - <0.01 - -
g . - - - = - - - - - - -
mg/ . 6C(F -] - - - -] -] -] - - - - -
mg, 0.0 - - - - - - - - - - - -
mg/ 0. 03 -] - - - -] -] -] - - - - -]
mg, 0. TXETXTF - - - -] - - - - - - - -
mg, 300: - 23.5 - 17.9 - 21. - 26.4 - 24.3 19.7 -
mg, 0. 05LXF] 0.044 0.025 0.027 0.024 0.058 0. 040 0.059 0.026 0.041 0.034 0.035 0.027
mg, 20LC - - - =) - - - - - = - -
mg/ 0.3 - <0.03 - - - <0.03 - - - <0.03 - -
g 0. 02N - <0.002 - - - <0.002 - - - <0.002 - -
mg 105( - - - - - - - - - - - -
mg/ 3T - -~ - -] - = - -~ - - — -]
m 5001¢ - 2 - 69’ - 69 - 87 - 85 78 -
Jg 2R 1.6 4.1 1.6 0.6’ 1.0 1.2 2.4 0.7 1.4 2.9 2.0 1.1
; 5. 8LLES. 61T 6.9 6.9 6.9 6.9 6.9 6.9 6.9 6.8 6.9 6.8 6.9 6.9
[ = = = = = = = = = = = =
B, ml | - - -] | | | - - - - |
mg/T 0.05 0.07 0.06 0.03 0. 05 0.01 0.05 <0.01 06 0.02 04 0.06
us/em 85.0 100.2 83, 97.8 114.5 86.8 86. 103.1 102. 114.2 91.5 80.7,
Z|
[l
fte
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12008705, 13 T 200871105 T 2008712701 [ 2000701710 1 2000702/6 [ 2000703709 5
T TEE i TR R TR TR
T 17.0 26.0 29.0 25.0 13.0 9.0 q 9.0 10.0
“C 14.0 24.0 24.0 2.0 12.0 8.0 4.0 10.0 10.0
g 0001 - - - - - 00002 - 00002 - - = 0
ng 0.0031X = = = = =|_<0.00001 =[_<0.00001 = = - <0.
mg, 0. 0210 - - - = = <0. 00002 - <0. 00002 - = = <0.
ng . 0025 <0.0001 —[__<0.0001 —|__<0.0001 —[__<0.0001 —[__<0.0001 = -
ng X o_ﬁos 5 - = - = = 0000 - 00001 - = =
ng . 005 - - - = = . 0000 - 00002 - = =
ng . 003L) = = = = = 0000 = 0000 = = -
mq, 0. 04LLF| - - - = = 0000 - . 0000 - = =
ng 0. 055! - = - = = . 0000 - 0000 = = -
s ng 0. 05L = = = = = 0000 = 0000 = = =
D= YA (D) ng 0. 008% - - - = = . 0000 - 0000 - = =
7 (BPHC) g, 0. 030 - - - = = . 0000 - 0000 - = =
07z (CNP mg. 0. 00014 F - - - = = 0. 000 - 0. 000 - = =
ng 0.0005% - = - = —[__<0.000 - 0.000 = = -
KZ (18P ng 0.008L = = = = —[_<0.0000" = 0000 = = -
ng 0.0065 - - - = —|_<0.0000! - 0000 - = =
ng o_ﬁz 5 <0.000002 - - - = =[<0.000002 =] <0.000002 - - - 0.
mg, 0. 005LLF|_<0. 000005 - - - = -|__<0.000005 =|__<0. 000005 - - - <
ng o.joz > <0.00001 = = = = = 00001 = 00001 = = -
mg, 0. 006L4F| <0. 00001 - - - = = 00001 - . 00001 - = =
ng ujkmos ) <0.0008 - = - = = 0. 0008 - 00008 = = -
ng 0. 0011 <0.00003 = = = = =[__<0.00003 =[__<0.00003 = = = 0.
mg 0. 030 <0.00005 - - - = —|_<0.00005 —[_<0.00005 - = = <0.
ng 0. 03L) 0.0002 = = = = = 0.0002 = 0.0002 = = -
mg, 0. 002L4F <0. 00005 - - - - = . 00005 - . 00005 - = =
ng 0. 300 |[_<0.0000; - = - = = . 0000, - . 00002 = = -
ng 0.004L <0.0000 = = = = = 0000 = 00001 = = -
mg 0. 043 <0.0000 - - - = = . 0000 - 00005 - = =
ng 0. 30 0,000 = = - = = 0.000 = 0.0001 = = -
mg, 0. 055(F| <0. 0000 - - - = = <0. 0000: - <0. 00002 - = - <0. ),
ng 0.2 <0.0000 - - - = —[_<0.0000 —[<0.0000 - = - <. X
ng 0. 2L( | <0.0000 = = - = —[_<0.0000 —]_<0.0000 = = - 0. X X
ng 0.0: <0.000 - - - = = 0.000 - 0,000 - - - X X X
ng 0. 05L( K| <0.0000 - - - = —[_<0. 0000 —_<0.0000! - - - <0.00005] _<0. 00005] _<0. 0000
mg, 0. 1 F <0. 0000 - - - = = <0. 0000 - <0. 0000 - - - <0. 0000° <0. 0000° <0. 0000
ng 0.2 0,000 - - - = = 0.000 - 0,000 - = - X X
mg/ 0. 008L(F [ <0. 0000 = = - = = . 0000 = . 0000 = = -
ng . 020 <0.0000 - - - = = . 0000 - . 0000 - - -
ng 030 K| <0.0000 - - - = = 0000 - 0000 - - -
ng 020 | <0.0000; = = - = = 0000 = 00002 = = -
ng 011( 0,000 - - - = = 0.000 - 0,000 - = -
mg/ 0 1L( | <0.0000 = = - = = . 0000 = . 0000 = = -
ng 0. 08I <0.0000 - - - = = 0000 - . 0000 - - -
ng 0. 10 F|_<0.0000 - - - = = . 0000 - 0000 - - -
ng 0. 005LLT [ <0.00002 = = - = = 00002 = 00002 = = -
ng 0. 0311 <0.00005 - - - = = 00005 - . 00005 - = -
7= 50— )b mg/ 0. 01LF|<0.00002 = = - = = 00002 = 00002 = = -
Z| FADA) ng 0.05. <0.00002 B B - = = 00002 B . 00002 B = -
1,||17471/T7\(1/ 71734, EDDP) __ma/ 0. 006L(F [ <0.00005 - - - - - 00005 - . 0000 - - -
[SA=EI=p ng 0. 04L( | <0.0000 = = - = = 0000 = 0000 = = -
ik ng 0.1 <0.0000 - - - = = 0000 - . 0000 - = -
X7z ft v E mg/" 0. 009LF | <0. 0000 - - = = = . 0000 = . 0000 = - -
"‘"7 LF>o0-]U ng 0.041X <0.0000 B B - = = . 0000 B . 0000 B = -
4‘/ TV 7 PO ng/ 0. 01L(F|[<0.00005 - - - - - 00005 - . 00005 - - -
F77 ES |~><§- v mg, 0.3L( | <0.00005 = = - = = 00005 = 00005 = = -
,;IIT 1%/ g, 0.2 <0.00002 - - - - - . 0000 = . 00002 = = -
=X ?a%tﬂ‘mp mg/ 0. 004L(F | <0.0000 - - - = = 0000 - 00001 - - -
ng 0.0: <0.0000 B B - = = . 0000 B . 00002 B = -
mq/ 0. 04L(F| 0,000 - - - - - 0.000 - 0.000 - - -
ng 0. 005LLF | <0. 0000 = = - = —[_<0.0000 —[_<0.0000 = = -
ng 0. 09 <0.000 - - - = = 0.000 - 0,000 - = -
ng 0. 003L(T | <0. 0000 - - - = —[_<0.0000 —[_<0.0000 - - -
ng 011( <0.0000 B B - = —|_<0.0000! —[_<0.0000" B = -
mq/ 08I F <0.00 - - - - - <0.00 - <0.00 - - -
ng O1L{F|—_<0.0000 = = - = —[_<0.0000 —_<0.0000 = = -
ng 051 <0.0000 - - - = = _<0.0000! —[_<0.0000" - = -
T Ty mg/ 0. 005L(F| <0.00 - - - = = <0.00 - <0.00 - - -
DI=P(1[)] ng 0. 0251 <0.000 B B - = —[__<0.000 B 0. 000 B = -
TV FRLT 7Y nq 0. 01L(F|_<0.0000 - - - - =[_<0.0000" —[_<0.0000" - - -
TFror 709X ng 0. 0BL( || <0.00005 B = - = —[_<0.00005 —_<0.00005 = = -
17X (IPP) mg 0. 0011 <0.0000 - - - = —[_<0.0000 —[<0.0000 - - -
TR —F mg/ 2L(F[<0.000 - - - = —[__<0.000' - 0,000 - - -
EEPA(Giz2) ng 051 <0.0000 B B - = —|_<0. 0000 B 0000 B - -
VL ng NED <0.0000 - - - = =[_<0.0000; - 0000 - = -
ng . 0210 [ <0.00002 = = - = —[_<0.00002 = 0000 = = -
ng . 04L(F | <0. 000004 - - - = —|<0. 000004 —[<0. 000004 - - - K
ng 03X [ <0.00002 - - - = = 00002 - . 0000 - - -
ng 0. 00311 <0.00002 - - - = = 00002 - 0000 - - -
ng 0,004 <0.00004 - - - = = 00004 - 00004 - - -
ng 00211 <0.0000 B B - = = . 0000 B . 0000 B = -
nq 0. 004L(F[_<0. 0000 - - - - - . 00004 - 00004 - - -
ng 0.055 000 = = - = = 0.000 = 0.000 = = -
ng 0. 011X <0.000 - - - = = 0.000 - 0,000 - = -
mg 0.81( <0. 0000 - - - = =<0, 0000 —_<0. 0000 - - -
Y ng 0.2L( . = = = = = 0.000 B 0.000 B = -
"YU RIT7OYXFIV nq 0. AL{F|__<0.0000 - - - - - . 0000 - 0000 - - - <0. 00001
F IS 55I—I0 ng 0. 0BL( || _<0. 000002 = = - = —[_<0.000002 =] <0.000002 = = - <0. 000002
EAOER ng 000091 <0.00005 - - - = —|_<0.00005 —[_<0.00005 - - - <0.00005
SABAFTZ ng 0. 02X <0.00001 - - - = = __<0.00001 =] <0.00001 - - - <0.00001
FIETALOEY mg 0,511 <0.00002 B B - = —|_<0.00002 —[_<0.00002 B - - <0.00002
(= /02T i mg, 0.006L1 <0.005 - - - - - <0.005 - <0.005 - - - <0.005
R FIL mg, 2LL <0.02 = = - = = <0.02 = 0,02 = = - <0.02
FUH—RE—F ng [ES <0.002 - - - = = <0.002 - <0.002 - - - <0.002
IN=N3]%d"] /x FIU mg 0,311 <0, 00005 - - - = —[__<0.00005 - _<0.00005 - - - <0. 00005
7597 ng 0. 03L( F||_<0.000002 B B - = —|<0.000002 —[<0.000002 B - - <0. 000002
7-7J'~/NI/7 ng 008X <0.00005 - - - = = _<0.00005 —[_<0.00005 - = - <0.00005
JOE1FJ—1U ng 0,055 <0.000 = = - = = 0. 0002 = 0. 0002 = = - <0.0002
DaE=02 ng 03I <0.0000 - - - = —[_<0.00002 - 00002 - - - <0.00002
ZDWISEwES2 mg 0. 211 <0.0000 - - - = = __<0.00001 =] <0.00001 - - - <0.00001
FIZNS U ng 00611 <0.0000 B B - = —|__<0.00001 —[__<0.00001 B - - <0.0000T




MIER9 > TR0
ATHH 9 ‘ ik
RIEKIE  ZJNEFKBEHD

RRERH [ 200870513 200871105 | 2008/12/01 | 2009701719 | 2000702716 | 200303/09 2 & EE R |
NS !B ﬁn BHE nﬁ! ﬁa nﬁ! nﬁl
T 14. 16.0 13.0 9.0 q 9.0 10.0 29.0 7.0 16.0)
K 13, 14.0 13.0 8.0 4.0 0.0 10.0 24.0 2.0 2.6
ml TO0LL 112 660] 157 B0 04 92_'@] T120] 272
NPN_100mT 0.9LL & + ) ) ) ) +) ) () ) -] - |
ng 0.0 = <0.00 - <0001 = = <0001 <000 - <0.00 <0001 - 00 0.0 <0001
ng 0.000 = __<0.0000! —[_<0.00005 —|__<0.00005 —__<0.0000! —[_<0.00005] _<0.00005 - <0. 00005 <0, 00005] __<0. 00003
ng . = 0.00 = 001 = = <0001 .00 = .00 001 = <0.00 <0.00 001
ng . = <0.00 - .00 = = <0.001 .00 - .00 .00 = <0.00 <0.00 007
ng = <0.00 = 001 = = <0.001 .00 = .00 .00 - <0.00 <0.00 .00
g, + = <0. 00! - 005 = = <0.005 00! - .00 005 = <0. 00! <0.005 005
ng . = <0.00 - 001 = <0001 = 001 - 001 001 = <0.001 <0.001 001
ng (5 1.05 0.9 073 0.66 0.5 .97 0.69 0.59 0.90] 1.06 0.81 0.90] 1.06 0.56 0.82
ng 0.8 = <o.@| - <0.08] = <0.08 = <0. 08] - <0.08 <0.08 = <0.08] <0.08] <0.08
ng > = <0.02 = <0.02 = <0.02 <0.02 = <0.02 <0.02 - <0.02 <0.02 <0.02
ng 000214 F| - <0.0002 -[<v.0002 - <0.0002 -|_<0.0002 —[_<0.000; <0.0002 - <0.0002] __<0.0002[ __<0.0002
ng 050 = <0.005 = 005 = <0.005 = 005 = .00 005 = <0.005 <0.005, 005|
ng . 02 = <0.002 = 002 = 002 = 002 = . 00; 002 - <0.002 <0.002. 002
ng 047 = <0.004] - . 004 = <0.004, = 004 - .00 . 004 = <0.004 <0.004, 004]
ng 021 = <0.00; - 002 = 002 = .00, - .00, 002 - <0.002 <0.002. 002
ng 01T = <0.00 = 001 = <0.001 = 00 = 00 001 = <0.001 <0.001 001
ng 030 = <0.00; = . 003 = 003 = . 00; = . 00; .003 - <0.003 <0.003, 003]
ng 0T F| = <0.00 - 001 = <0.001 = .00 - .00 001 = <0.001 <0.001 001
mg, 0. 65 - - - -] - - - - - - - - -]
mg 0. 02 - - - - - - - - - - - - -
mg, 0. 06: - - - -] - - - - - - - - - = -]
mg, 0.041 - - - - - - - - - - - - - - -|
ng 01X F = - - - = = = - - - = - - - -
mg, 0. 01B(F| - - - -] - - - - - - - - - -] -]
mg 0. - - - - - - - - - - - - - = -
mg, 0. - - - -] - - - - - - - - - = -]
mg, 0. 035/ - - - - - - - - - - - - - - -
ng 0.09L(F| = B B - = = = B B B = - - - -
mg, 0. 08L( - - - - - - - - - - - - - - -
ng 1T - 0. = 0.01 = = 0. 001 = 01 001 = 0. 001 0.01
ng 0.2LL = N - .04 = = X 08| - .05 .08 = X .04 . 10)
ng 0.3F 0.09 0.10 .06, 011 0.10 X .09 0.09 .06 .09 0.06 X .06 .10)
ng 1T - 3 - 0.01 = = 0. 0.0 - 0.0 0.0 = 20, 20,01 0.01
ng 200L = - .7 = 5.9 = . - X X - 9.2 7 6.9)
mg/ 0. 0507 0.035 0.02 0.029 0.022 0.068 0.037 0.019 0.024 0.068] 0.013 0.029
ng 20011 5.4 .0 . 5.2 5. 9.9 6.0)
EGINTIE ng 300 F = = = 2.1 20.8
ng 5001 = 6 = -
7 mg, 0.2 - . . . -
> mg/ 000001 | <0.000001 0000 <0.000001
VG ] ng 0.00001 <0.000001 1] 0000 <0.000001] <0.000001
& ER] ng 0024 F - 0.002 = 002 -
3 ng 0005 F| = —[_<0.0005 - -
ng 5 0.9 8 6 0.8 1.0 1.0 7.0 0.6
5.8LLEB. 611 6.9 . 6.9 6.9 6.9 6.8
JIT:3 TER T2 IER TR TEER TR
E SLLT 4 4 5 7 3 4 3
2 F] 14 3 15 0.6 1.0 14 25 0.9 14 N 11
mg; 0. 0T55C - 0.00 - -| - - - - - . -
ng 0,002 —[__<0.000. - - = = = - - <0.0002 - -
mg/ 0.01XF = <0.00 = - = = = - = <0.001 = -
ng 0. 055(F| = 0.009 B - = <0005 = - - 0.027 = -
, ng 0. 004 - <0.0004 - - —|_<0.0004 = - - <0.0004 = -
SUA12->/O0TFLY mg/ 0. 04L(F| = <0.004] = - = <0.004 = = = <0.004 = -
A 2-FUZonTa> ng 0. 00611 - <0.0006 - - —|__<0.0006 = - - <0.0006 - -
> mg/ . 2L F = <0.02 = - = <0.02 = - = <0.02 = -
TTFINAETIL ng 1LE = <0.01 - - = <0.01 = - B <0.01 = -
mg, . el - - - el el - - - el el
mg/ . 6C(F -] - - - -] -] -] - - - - -
o007 F=FUIL mg, 0.0: =] - - - =] =] =] - - - - -]
Z=Ib mg/ 0. 03 -] - - - -] -] -] - - - - -]
ng 0 EIYF = - B - = = = - B - = -
ng 30 - 2. - 16.7 = 10 = 2.1 - 27.7 8.8 =
| ng 0.05L(F] 0.035 0.029 0.029 0.022 0.068 0.037 0.019 0.024 0.019 0.013 0.034 0.024
5 [ R mg, 200 - - - - - - - - - - - -
gii-tUZzonzay mg/ 0.3F = 0,03 - - = 0,03 = - - <003 - -
ng 0.02L(F| = <0.002 = - = <0.002 = = = <0.002 = =
ng 1051 = - - - = = = - - - = -
mg/’ 3F] - - - -] - - - - - - - - - -] -]
m 001, = 75 - 65 = 65 = 85 - il il = 85 65 7
i3 2T 14 3.4 15 0.6 7.0 1.4 2.5 0.9 14 1.3 1.8 11 3.4 0.6 1.5
: 5.85(EB. 6501 6.9 6.9 6.9 6.0 6.0 6.9 6.9 6.9 6.9 6.0 6.9 6.8 6.0 6.8 6. SII
g = = = = = — — = = = = = = = -
B, ml | - - -] | | | - — - - | | -]
/T 0.06 0.01 0.05 0.01 <001 0.05 0.01 0.04] 001 0.0 0.06 0.06 <001 0
us/cn 78.3 92.3 77.6 90.9 103.7 86.5 99.8 97.5 107.7 2 761 107.7 90.1
kq
1)
1t




AMIEE 9 . TH20EE
\ \ KEK  FEH
REKEFE 2R FK(FH)
2008704, 14 |

12008705, 13 T 200871105 T 2008712701 [ 2000701710 1 2000702/6 [ 2000703709 5
T TEE TEEE i TR R TR TR
T 16.0 26.0 29.0 24.0 13.0 9.0 q 9.0 10.0
“C 14.0 23.0 24.0 2.0 13.0 8.0 4.0 9.0 10.0
g 0001 - - - - - 00002 - 00002 - - = 0
ng 0.0031X = = = = =|_<0.00001 =[_<0.00001 = = - <0.
mg, 0. 0210 - - - = = <0. 00002 - <0. 00002 - = = <0.
ng . 0025 <0.0001 —[__<0.0001 —|__<0.0001 —[__<0.0001 —[__<0.0001 = -
ng X o_ﬁos 5 - = - = = 0000 - 00001 - = =
ng . 005 - - - = = . 0000 - 00002 - = =
ng . 003L) = = = = = 0000 = 0000 = = -
mq, 0. 04LLF| - - - = = 0000 - . 0000 - = =
ng 0. 055! - = - = = . 0000 - 0000 = = -
s ng 0. 05L = = = = = 0000 = 0000 = = =
D= YA (D) ng 0. 008% - - - = = . 0000 - 0000 - = =
7 (BPHC) g, 0. 030 - - - = = . 0000 - 0000 - = =
07z (CNP mg. 0. 00014 F - - - = = 0. 000 - 0. 000 - = =
ng 0.0005% - = - = —[__<0.000 - 0.000 = = -
KZ (18P ng 0.008L = = = = —[_<0.0000" = 0000 = = -
ng 0.0065 - - - = —|_<0.0000! - 0000 - = =
ng o_ﬁz 5 <0.000002 - - - = =[<0.000002 =] <0.000002 - - - 0.
mg, 0. 005LLF|_<0. 000005 - - - = -|__<0.000005 =|__<0. 000005 - - - <
ng o.joz > <0.00001 = = = = = 00001 = 00001 = = -
mg, 0. 006L4F| <0. 00001 - - - = = 00001 - . 00001 - = =
ng ujkmos ) <0.0008 - = - = = 0. 0008 - 00008 = = -
ng 0. 0011 <0.00003 = = = = =[__<0.00003 =[__<0.00003 = = = 0.
mg 0. 030 <0.00005 - - - = —|_<0.00005 —[_<0.00005 - = = <0.
ng 0. 03L) 0.0002 = = = = = 0.0002 = 0.0002 = = -
mg, 0. 002L4F <0. 00005 - - - - = . 00005 - . 00005 - = =
ng 0. 300 |[_<0.0000; - = - = = . 0000, - . 00002 = = -
ng 0.004L <0.0000 = = = = = 0000 = 00001 = = -
mg 0. 043 <0.0000 - - - = = . 0000 - 00005 - = =
ng 0. 30 0,000 = = - = = 0.000 = 0.0001 = = -
mg, 0. 055(F| <0. 0000 - - - = = <0. 0000: - <0. 00002 - = - <0. ),
ng 0.2 <0.0000 - - - = —[_<0.0000 —[<0.0000 - = - <. X
ng 0. 2L( | <0.0000 = = - = —[_<0.0000 —]_<0.0000 = = - 0. X X
ng 0.0: <0.000 - - - = = 0.000 - 0,000 - - - X X X
ng 0. 05L( K| <0.0000 - - - = —[_<0. 0000 —_<0.0000! - - - <0.00005] _<0. 00005] _<0. 0000
mg, 0. 1 F <0. 0000 - - - = = <0. 0000 - <0. 0000 - - - <0. 0000° <0. 0000° <0. 0000
ng 0.2 0,000 - - - = = 0.000 - 0,000 - = - X X
mg/ 0. 008L(F [ <0. 0000 = = - = = . 0000 = . 0000 = = -
ng . 020 <0.0000 - - - = = . 0000 - . 0000 - - -
ng 030 K| <0.0000 - - - = = 0000 - 0000 - - -
ng 020 | <0.0000; = = - = = 0000 = 00002 = = -
ng 011( 0,000 - - - = = 0.000 - 0,000 - = -
mg/ 0 1L( | <0.0000 = = - = = . 0000 = . 0000 = = -
ng 0. 08I <0.0000 - - - = = 0000 - . 0000 - - -
ng 0. 10 F|_<0.0000 - - - = = . 0000 - 0000 - - -
ng 0. 005LLT [ <0.00002 = = - = = 00002 = 00002 = = -
ng 0. 0311 <0.00005 - - - = = 00005 - . 00005 - = -
7= 50— )b mg/ 0. 01LF|<0.00002 = = - = = 00002 = 00002 = = -
Z| FADA) ng 0.05. <0.00002 B B - = = 00002 B . 00002 B = -
1,||17471/T7\(1/ 71734, EDDP) __ma/ 0. 006L(F [ <0.00005 - - - - - 00005 - . 0000 - - -
[SA=EI=p ng 0. 04L( | <0.0000 = = - = = 0000 = 0000 = = -
ik ng 0.1 <0.0000 - - - = = 0000 - . 0000 - = -
X7z ft v E mg/" 0. 009LF | <0. 0000 - - = = = . 0000 = . 0000 = - -
"‘"7 LF>o0-]U ng 0.041X <0.0000 B B - = = . 0000 B . 0000 B = -
4‘/ TV 7 PO ng/ 0. 01L(F|[<0.00005 - - - - - 00005 - . 00005 - - -
F77 ES |~><§- v mg, 0.3L( | <0.00005 = = - = = 00005 = 00005 = = -
,;IIT 1%/ g, 0.2 <0.00002 - - - - - . 0000 = . 00002 = = -
=X ?a%tﬂ‘mp mg/ 0. 004L(F | <0.0000 - - - = = 0000 - 00001 - - -
ng 0.0: <0.0000 B B - = = . 0000 B . 00002 B = -
mq/ 0. 04L(F| 0,000 - - - - - 0.000 - 0.000 - - -
ng 0. 005LLF | <0. 0000 = = - = —[_<0.0000 —[_<0.0000 = = -
ng 0. 09 <0.000 - - - = = 0.000 - 0,000 - = -
ng 0. 003L(T | <0. 0000 - - - = —[_<0.0000 —[_<0.0000 - - -
ng 011( <0.0000 B B - = —|_<0.0000! —[_<0.0000" B = -
mq/ 08I F <0.00 - - - - - <0.00 - <0.00 - - -
ng O1L{F|—_<0.0000 = = - = —[_<0.0000 —_<0.0000 = = -
ng 051 <0.0000 - - - = = _<0.0000! —[_<0.0000" - = -
T Ty mg/ 0. 005L(F| <0.00 - - - = = <0.00 - <0.00 - - -
DI=P(1[)] ng 0. 0251 <0.000 B B - = —[__<0.000 B 0. 000 B = -
TV FRLT 7Y nq 0. 01L(F|_<0.0000 - - - - =[_<0.0000" —[_<0.0000" - - -
TFror 709X ng 0. 0BL( || <0.00005 B = - = —[_<0.00005 —_<0.00005 = = -
17X (IPP) mg 0. 0011 <0.0000 - - - = —[_<0.0000 —[<0.0000 - - -
TR —F mg/ 2L(F[<0.000 - - - = —[__<0.000' - 0,000 - - -
EEPA(Giz2) ng 051 <0.0000 B B - = —|_<0. 0000 B 0000 B - -
VL ng NED <0.0000 - - - = =[_<0.0000; - 0000 - = -
ng . 0210 [ <0.00002 = = - = —[_<0.00002 = 0000 = = -
ng . 04L(F | <0. 000004 - - - = —|<0. 000004 —[<0. 000004 - - - K
ng 03X [ <0.00002 - - - = = 00002 - . 0000 - - -
ng 0. 00311 <0.00002 - - - = = 00002 - 0000 - - -
ng 0,004 <0.00004 - - - = = 00004 - 00004 - - -
ng 00211 <0.0000 B B - = = . 0000 B . 0000 B = -
nq 0. 004L(F[_<0. 0000 - - - - - . 00004 - 00004 - - -
ng 0.055 000 = = - = = 0.000 = 0.000 = = -
ng 0. 011X <0.000 - - - = = 0.000 - 0,000 - = -
mg 0.81( <0. 0000 - - - = =<0, 0000 —_<0. 0000 - - -
Y ng 0.2L( . = = = = = 0.000 B 0.000 B = -
"YU RIT7OYXFIV nq 0. AL{F|__<0.0000 - - - - - . 0000 - 0000 - - - <0. 00001
F IS 55I—I0 ng 0. 0BL( || _<0. 000002 = = - = —[_<0.000002 =] <0.000002 = = - <0. 000002
EAOER ng 000091 <0.00005 - - - = —|_<0.00005 —[_<0.00005 - - - <0.00005
SABAFTZ ng 0. 02X <0.00001 - - - = = __<0.00001 =] <0.00001 - - - <0.00001
FIETALOEY mg 0,511 <0.00002 B B - = —|_<0.00002 —[_<0.00002 B - - <0.00002
(= /02T i mg, 0.006L1 <0.005 - - - - - <0.005 - <0.005 - - - <0.005
R FIL mg, 2LL <0.02 = = - = = <0.02 = 0,02 = = - <0.02
FUH—RE—F ng [ES <0.002 - - - = = <0.002 - <0.002 - - - <0.002
IN=N3]%d"] /x FIU mg 0,311 <0, 00005 - - - = —[__<0.00005 - _<0.00005 - - - <0. 00005
7597 ng 0. 03L( F||_<0.000002 B B - = —|<0.000002 —[<0.000002 B - - <0. 000002
7-7J'~/NI/7 ng 008X <0.00005 - - - = = _<0.00005 —[_<0.00005 - = - <0.00005
JOE1FJ—1U ng 0,055 <0.000 = = - = = 0. 0002 = 0. 0002 = = - <0.0002
DaE=02 ng 03I <0.0000 - - - = —[_<0.00002 - 00002 - - - <0.00002
ZDWISEwES2 mg 0. 211 <0.0000 - - - = = __<0.00001 =] <0.00001 - - - <0.00001
FIZNS U ng 00611 <0.0000 B B - = —|__<0.00001 —[__<0.00001 B - - <0.0000T




AMITER 9
AFZKIER

IKEIK

FR20EE

200871105 | 2008/12/01 | 2009701719 | 2000702716 | 200303/09 2 & 53
= TS E TR R TR
T 1 X 26.0 13.0 9. 0 1. 30.0
E 13.0 25.0 23.0 17.0 3.0 .0 11 25.0
ml TO0LL 15 38 28 7 3 24 524
NPN_100mT 0.9LL ©) () ) = C] ) = -
ng 0.0 = 0. = = <0001 <000 - <0001 - <000 <0
ng 0.000 = X <0.00005 —__<0.0000! = <0. 00005 - <0. 00005 _<0. 0000
ng . = 0.0 = <000 .00 = .00 001 = <0.00 0.0
ng . = <0. = <0.001 .00 - .00 .00 = <0.00 <0.
ng = <0. = <0.001 .00 = .00 .00 - <0.00 0.
ng i = <0. = <0.005 00! - 00! 005 = <0. 00! <0.
ng . = <0. <0001 = 001 - 001 001 = <0.001 <0.
ng (5 1.4 12 1.66 138 .14 145 1.9 1.45 T.41 1.9
ng 0. 8—5 = . = <0. 08 - <0.08 <0.08 = <0.08]
ng 15 = <0.02 = <0.02 <0.02 - <0.02 X
ng 000214 F| = <0.0002 —[_<0.000; <0.0002 - <0.0002] <0
ng 050 = 005 = .00 005 = <0.005 <0.
ng . 02 = 002 = . 00; 002 - <0.002 0.
ng 047 = 004 - .00 . 004 = <0.004 <0.
ng 021 = .00, - .00, 002 - <0.002 0.
ng 01507 = .00 - .00 001 - <0.001 <0.
ng 030 = . 00; = . 00; .003 - <0.003 0.
ng 01T = .00 = .00 001 = <0.001 <0.
mg, 0. 65 - - - - - - - -]
ng 0.02 = = = = = = =
mg, 0. 06: - - - - - - - = -]
ng 0.04] = = = = = - - = -
ng 01F = - = = = - - - -
ng 0. 01L(F| = - = = = - - - -
mg, g - - - - - - - - -
mg, . 2. - - - - - - - = -]
mg, 0.@ = = - - = = = = =
ng 0.09L(F| = - - - = - - - -
mg 0. 08L( = = = = = = — = |
ng 1T - <0. = 01 = i 01
ng 0211 = <0. - .02 = 2 2
ng 0.3 <001 <0. <001 .0 <0.01
ng 1LLF] = <0. - Xi} -
ng 2000 = N =
ma/ o.zggu‘ <0.005 0. 0. 002
ng Iy 7. 6.
RGN g, 30014 F = -]
ng 500 = -
b mg, 0.2! - -
> mg/ 0.00001 0000007 <0.000001
VG ] ng 0.00001 <0.000001 000001 <0.000001
b i mg 0. 022(F| - - . =] . 0! -]
3 ng 0. 005L(F| = - <0.0005 = - <0.0005 = -
ng 5 0.7 0.4 0. 0.7 0.5 1.0 0.7 0.5
5.8LLEB. 611 6.2 6.2 6.2 6.1 6.0 6.0 6.2 6.4
ELY 3 B B2 ER R R ER BR B
E 57 1 1 1 1 1 1 1 1 1
E 2T 01 <0 01 Q01 01 01 01 01 01 X Q01
mg; 0. 0T55C - 0.00 - -| - - - - - . -
ng 0,002 —[__<0.000. - - = = = - - <0.0002 - -
mg/ 0. 01L(F] = <0.00 = - = = = - = 0.001 = -
ng 0. 055(F| = <0.00 B - = <0005 = B B 0.005 = -
, O0T% ng 0. 004 - <0.0004 - - —|_<0.0004 = - - <0.0004 = -
SUA12->/O0TFLY mg/ 0. 04L(F| = <0.004] = - = <0.004 = = = 0,004 = -
d2-FUznoTzy ng 0. 00611 - <0.0006 - - —|__<0.0006 = - - <0.0006 - -
> mg/ 2L F = <0.02 = - = <0.02 = - = <0.02 = -
TTFINAETIL ng i = <0.01 B - = <0.01 = B B <0.01 = -
mg, sl hl hl hl sl sl hl hl hl el hd
mg/ . 6C(F -] - - - -] -] -] - - - - -
o007 F=FUIL mg, 0.0: =] - - - =] =] =] - - - - -]
>—Ib mg/ 0. 03L(F| = - = - = = = - = = = -
ng 0 EIYF = - B - = = = - B - - -
ng 3001 = 27.1 - 76. = 36.5 = 35, - 306 37 =
| > ng 0. 0557 <0.005 <0.005 0.005 <0.005 <0.005 <0.005 <0005 <0.005 <0005 <0.005 <0.005 <0.005
5 [ R mg, 200 - - - - - - - - - - - -
gii-tUZzonzay mg/ 0.3F = 0,03 - - = 0,03 = - - <003 - -
ng 0.02L(F| = <0.002 = - = <0.002 = B = <0.002 = =
ng 10 = - - - = - = - - - - -
mg/’ 3F] - - - -] - - - - - - - -
m 001, = % - 90 = 61 = 122 - 130 95 =
i3 2T 01 0.1 01 0.1 <01 0.1 01 0.1 01 Q.1 Q.1 Q01
: 5.85(EB. 6501 6.2 6.2 6.2 6.2 6.1 6.2 6.0 6.0 6.2 6.4 6.4 6.4
o < < < < = < = B < B = B = B =
B, ml | - - -] | | - - - - | | -] -
/T 0.03 0. 0.0 0.01 0.04 <001 0.02 <001 <001 <001 <001 0 0.04 <001 001
us/cn 719.0 740.1 125.3 142.2 188.3 152.8 139.5 160.0 147.7 178.5 134.7 T11.2 188.3 1.2 144.9)
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12008705, 13 T 200871105 T 2008712701 [ 2000701710 1 2000702/6 [ 2000703709 5
T TEE i TR R TR TR
T 16.0 26.0 30.0 26.0 13.0 9.0 q 9.0 11.0
“C 16.0 22.0 25.0 23.0 17.0 3.0 8.0 10.0 T1.0
g 0001 - - - - - 00002 - 00002 - - = 0
ng 0.0031X = = = = =|_<0.00001 =[_<0.00001 = = - <0.
mg, 0. 0210 - - - = = <0. 00002 - <0. 00002 - = = <0.
ng . 0025 <0.0001 —[__<0.0001 —|__<0.0001 —[__<0.0001 —[__<0.0001 = -
ng X o_ﬁos 5 - = - = = 0000 - 00001 - = =
ng . 005 - - - = = . 0000 - 00002 - = =
ng . 003L) = = = = = 0000 = 0000 = = -
mq, 0. 04LLF| - - - = = 0000 - . 0000 - = =
ng 0. 055! - = - = = . 0000 - 0000 = = -
s ng 0. 05L = = = = = 0000 = 0000 = = =
D= YA (D) ng 0. 008% - - - = = . 0000 - 0000 - = =
7 (BPHC) g, 0. 030 - - - = = . 0000 - 0000 - = =
07z (CNP mg. 0. 00014 F - - - = = 0. 000 - 0. 000 - = =
ng 0.0005% - = - = —[__<0.000 - 0.000 = = -
KZ (18P ng 0.008L = = = = —[_<0.0000" = 0000 = = -
ng 0.0065 - - - = —|_<0.0000! - 0000 - = =
ng o_ﬁz 5 <0.000002 - - - = =[<0.000002 =] <0.000002 - - - 0.
mg, 0. 005LLF|_<0. 000005 - - - = -|__<0.000005 =|__<0. 000005 - - - <
ng o.joz > <0.00001 = = = = = 00001 = 00001 = = -
mg, 0. 006L4F| <0. 00001 - - - = = 00001 - . 00001 - = =
ng ujkmos ) <0.0008 - = - = = 0. 0008 - 00008 = = -
ng 0. 0011 <0.00003 = = = = =[__<0.00003 =[__<0.00003 = = = 0.
mg 0. 030 <0.00005 - - - = —|_<0.00005 —[_<0.00005 - = = <0.
ng 0. 03L) 0.0002 = = = = = 0.0002 = 0.0002 = = -
mg, 0. 002L4F <0. 00005 - - - - = . 00005 - . 00005 - = =
ng 0. 300 |[_<0.0000; - = - = = . 0000, - . 00002 = = -
ng 0.004L <0.0000 = = = = = 0000 = 00001 = = -
mg 0. 043 <0.0000 - - - = = . 0000 - 00005 - = =
ng 0. 30 0,000 = = - = = 0.000 = 0.0001 = = -
mg, 0. 055(F| <0. 0000 - - - = = <0. 0000: - <0. 00002 - = - <0. ),
ng 0.2 <0.0000 - - - = —[_<0.0000 —[<0.0000 - = - <. X
ng 0. 2L( | <0.0000 = = - = —[_<0.0000 —]_<0.0000 = = - 0. X X
ng 0.0: <0.000 - - - = = 0.000 - 0,000 - - - X X X
ng 0. 05L( K| <0.0000 - - - = —[_<0. 0000 —_<0.0000! - - - <0.00005] _<0. 00005] _<0. 0000
mg, 0. 1 F <0. 0000 - - - = = <0. 0000 - <0. 0000 - - - <0. 0000° <0. 0000° <0. 0000
ng 0.2 0,000 - - - = = 0.000 - 0,000 - = - X X
mg/ 0. 008L(F [ <0. 0000 = = - = = . 0000 = . 0000 = = -
ng . 020 <0.0000 - - - = = . 0000 - . 0000 - - -
ng 030 K| <0.0000 - - - = = 0000 - 0000 - - -
ng 020 | <0.0000; = = - = = 0000 = 00002 = = -
ng 011( 0,000 - - - = = 0.000 - 0,000 - = -
mg/ 0 1L( | <0.0000 = = - = = . 0000 = . 0000 = = -
ng 0. 08I <0.0000 - - - = = 0000 - . 0000 - - -
ng 0. 10 F|_<0.0000 - - - = = . 0000 - 0000 - - -
ng 0. 005LLT [ <0.00002 = = - = = 00002 = 00002 = = -
ng 0. 0311 <0.00005 - - - = = 00005 - . 00005 - = -
7= 50— )b mg/ 0. 01LF|<0.00002 = = - = = 00002 = 00002 = = -
Z| FADA) ng 0.05. <0.00002 B B - = = 00002 B . 00002 B = -
1,||17471/T7\(1/ 71734, EDDP) __ma/ 0. 006L(F [ <0.00005 - - - - - 00005 - . 0000 - - -
[SA=EI=p ng 0. 04L( | <0.0000 = = - = = 0000 = 0000 = = -
ik ng 0.1 <0.0000 - - - = = 0000 - . 0000 - = -
X7z ft v E mg/" 0. 009LF | <0. 0000 - - = = = . 0000 = . 0000 = - -
"‘"7 LF>o0-]U ng 0.041X <0.0000 B B - = = . 0000 B . 0000 B = -
4‘/ TV 7 PO ng/ 0. 01L(F|[<0.00005 - - - - - 00005 - . 00005 - - -
F77 ES |~><§- v mg, 0.3L( | <0.00005 = = - = = 00005 = 00005 = = -
,;IIT 1%/ g, 0.2 <0.00002 - - - - - . 0000 = . 00002 = = -
=X ?a%tﬂ‘mp mg/ 0. 004L(F | <0.0000 - - - = = 0000 - 00001 - - -
ng 0.0: <0.0000 B B - = = . 0000 B . 00002 B = -
mq/ 0. 04L(F| 0,000 - - - - - 0.000 - 0.000 - - -
ng 0. 005LLF | <0. 0000 = = - = —[_<0.0000 —[_<0.0000 = = -
ng 0. 09 <0.000 - - - = = 0.000 - 0,000 - = -
ng 0. 003L(T | <0. 0000 - - - = —[_<0.0000 —[_<0.0000 - - -
ng 011( <0.0000 B B - = —|_<0.0000! —[_<0.0000" B = -
mq/ 08I F <0.00 - - - - - <0.00 - <0.00 - - -
ng O1L{F|—_<0.0000 = = - = —[_<0.0000 —_<0.0000 = = -
ng 051 <0.0000 - - - = = _<0.0000! —[_<0.0000" - = -
T Ty mg/ 0. 005L(F| <0.00 - - - = = <0.00 - <0.00 - - -
DI=P(1[)] ng 0. 0251 <0.000 B B - = —[__<0.000 B 0. 000 B = -
TV FRLT 7Y nq 0. 01L(F|_<0.0000 - - - - =[_<0.0000" —[_<0.0000" - - -
TFror 709X ng 0. 0BL( || <0.00005 B = - = —[_<0.00005 —_<0.00005 = = -
17X (IPP) mg 0. 0011 <0.0000 - - - = —[_<0.0000 —[<0.0000 - - -
TR —F mg/ 2L(F[<0.000 - - - = —[__<0.000' - 0,000 - - -
EEPA(Giz2) ng 051 <0.0000 B B - = —|_<0. 0000 B 0000 B - -
VL ng NED <0.0000 - - - = =[_<0.0000; - 0000 - = -
ng . 0210 [ <0.00002 = = - = —[_<0.00002 = 0000 = = -
ng . 04L(F | <0. 000004 - - - = —|<0. 000004 —[<0. 000004 - - - K
ng 03X [ <0.00002 - - - = = 00002 - . 0000 - - -
ng 0. 00311 <0.00002 - - - = = 00002 - 0000 - - -
ng 0,004 <0.00004 - - - = = 00004 - 00004 - - -
ng 00211 <0.0000 B B - = = . 0000 B . 0000 B = -
nq 0. 004L(F[_<0. 0000 - - - - - . 00004 - 00004 - - -
ng 0.055 000 = = - = = 0.000 = 0.000 = = -
ng 0. 011X <0.000 - - - = = 0.000 - 0,000 - = -
mg 0.81( <0. 0000 - - - = =<0, 0000 —_<0. 0000 - - -
Y ng 0.2L( . = = = = = 0.000 B 0.000 B = -
"YU RIT7OYXFIV nq 0. AL{F|__<0.0000 - - - - - . 0000 - 0000 - - - <0. 00001
F IS 55I—I0 ng 0. 0BL( || _<0. 000002 = = - = —[_<0.000002 =] <0.000002 = = - <0. 000002
EAOER ng 000091 <0.00005 - - - = —|_<0.00005 —[_<0.00005 - - - <0.00005
SABAFTZ ng 0. 02X <0.00001 - - - = = __<0.00001 =] <0.00001 - - - <0.00001
FIETALOEY mg 0,511 <0.00002 B B - = —|_<0.00002 —[_<0.00002 B - - <0.00002
(= /02T i mg, 0.006L1 <0.005 - - - - - <0.005 - <0.005 - - - <0.005
R FIL mg, 2LL <0.02 = = - = = <0.02 = 0,02 = = - <0.02
FUH—RE—F ng [ES <0.002 - - - = = <0.002 - <0.002 - - - <0.002
IN=N3]%d"] /x FIU mg 0,311 <0, 00005 - - - = —[__<0.00005 - _<0.00005 - - - <0. 00005
7597 ng 0. 03L( F||_<0.000002 B B - = —|<0.000002 —[<0.000002 B - - <0. 000002
7-7J'~/NI/7 ng 008X <0.00005 - - - = = _<0.00005 —[_<0.00005 - = - <0.00005
JOE1FJ—1U ng 0,055 <0.000 = = - = = 0. 0002 = 0. 0002 = = - <0.0002
DaE=02 ng 03I <0.0000 - - - = —[_<0.00002 - 00002 - - - <0.00002
ZDWISEwES2 mg 0. 211 <0.0000 - - - = = __<0.00001 =] <0.00001 - - - <0.00001
FIZNS U ng 00611 <0.0000 B B - = —|__<0.00001 —[__<0.00001 B - - <0.0000T
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S8 [ ] [ FE|  [As]  BE] 2 BE
T 14. 16.0 9.0 9. 1. 30.0 7.0 16.4]
K 15. 16.0 . 10.0 10. 10. 24.0 8.0 16.2
| TOOL (] 0 0 0] 0 0]
NPN_100mT 0. 9L [© (=] (O] (= ) © ©) (=) © = = -|
ng 0.0 = <0.00 - <0.00 = = - <0.00 - <000 <0.00
ng 0.000 = __<0.0000! —[_<0.00005 —|__<0.00005 = <0. 0000 - <0. 00005 _<0. 0000
ng . = <0.00 = 001 = = = 001 = <0.00 <0.00
ng . = <0.00 - .00 = = - .00 = <0.00 <0.00
ng = <0.00 = 001 = = = .00 - <0.00 <0.00
ng i = <0.00 - 005 = = - 005 - <0.00 <0.005,
ng . = <0.00 - 001 = <0001 - 001 = <0.001 <0.001
ng (5 116 .10 0.82 0.80 0.72 1.07 .01 0.92 T.05 1.25 0.71
ng 0. 8—5 = <0.08 - <0.08] = <0.08 - <0.08 = <0.08] <0.08]
ng 15 = <0.02 = <0.02 = = = <0.02 - <0.02 <0.02
ng 0. 0025 F| - <0.0002 -[<v.0002 - <0.0002 - 000. <0.0002 - <0.0002 <. 0002
ng 050 = <0.005 = 005 = <0.005 = .00 005 = <0.005 <0.
ng . 02 = <0.002 = 002 = 002 = . 00; 002 - <0.002 0.
ng 047 = <0.004] - . 004 = <0.004, - .00 . 004 = <0.004 <0.
ng 021 = <0.00. - 002 = 002 - .00, 002 - <0.002 0.
ng 01507 = <0.00 - 001 = <0.001 = 00 001 = <0.00 <0.
ng 030 = <0.00 = . 003 = 003 = . 00; .003 - <0.00 0.
ng 01 = <0.00 - 001 = <0.001 - .00 001 - <0.00 <0,
ng 0. 61 = 0.06] = 011 = 0.08 = 006 010 - 0.1
ng 0.02 = <0.002 = <0.002 = <0.002 = 002 <0.002 = 20.00:
mg 0.06. = 007 - 013 = 012 - .00 . 004 = .01
ng 0.04] = . 004 = 005 = <0.004 = .00 006 - 006
ng 01 F = <0.00 - 002 = 003 - .00 001 - 004
ng 0. 01L(F| = <0.00 = <0001 = <0.00 = .00 20.001 = <0.001
ng 0. = 01 = 023 = .02, = .00 008 - 025
mg 0.2 = 0.0; - 0.02 = 0.0 - 0.0 0.02 = 0.02
ng 0. 034 = 0.00 = . 008 = 0.01 = 20.00 003 - 0.010
ng 0.09L(F| = <0.00 B <0.001 = <0.00 B <0.00 <0.001 - <0.001
ng 0. 08I = <0.008] - <0. 008, = <0.008 - <0.008 <0.008 - <0.008[
ng LT = <0. = .01 = = <0. = .0 .01 = <0.01
ng 0211 = 0. - <0.02 = <0. - .0 .02 = <0.02
ng 0.3 <001 X 0.0 <0. 0.01 .0 .0 <0.01 .0
ng 1LLF] = <0.0 <0, - .0 .0 = 0.0
ng 2000 = 8 9, - 3 7. = 3
mg/ 0. 0507 <0.005 <000 <0005 <0.00 <000 <0.005 <0.00
ng 20011 8. 6. 9.1 3 8. 8.1 13,
g, 300507 - 9. 29.8]
ng 500 = 7 90
7 mg, 0.2 - . 02 <0.02
Z=v mg/ 0.00001 0000001 0000001
VBN el ng 0.00001 <0.000001 <0.000001
SR ] mg 0. 022 F| - =] <0.002
: ng 0. 005L(F| = = <0.0005
ng 5 0.6 0.8
5.8LLEB. 611 6.8 - 6.9
EEE| = B =
SRR &%ﬁ - - -
E 57 <1 <1 Kl Kl Kl
E 2T 0.1 X 0.1 X 0.1 0.1 <01
ng 001551 = 00 = X <0001 <0. 001 0.
ng 0,002 —[__<0.000. - - = = = - - <0.0002 - <0. 0002 __<0.0002] __<0.0002
mg/ 0. 012(F] = <0.00 = - = = = - = 0.001 = <0.001 <0.001 0.001
ng 0. 055(F| = <0.00 B - = <0005 = B B 0.005 = <0.005 <0. 005, 0.005
, O0IZ> ng 0. 004 - <0.0004 - - —|_<0.0004 = - - <0.0004 = <0.0004] <0, 0004] __<0.0004]
SUA12->/O0TFLY mg/ 0. 04L(F| = <0.004] = - = <0.004 = = = 0,004 = <0.004 <0. 004, 0. 0!
d2-FUznoTzy ng 0. 00611 - <0.0006 - - —|__<0.0006 = - - <0.0006 - <0.0006] __<0.0006] __<0. 000%
> mg/ 2L = <0.02 = - = <0.02 = - = <0.02 = <0.02 <0.02 0.02
ITFILANFTIL g, T - - - - - - - - - - - - - -
mg, - - - -] - - - - - - - = = -
mg/ . 6C(F -] - - - -] =] -] - - - - - - -
O07EF=FJJL ng 0.0 = <000 - - = <0004, = - - <0.00: - <0004 <0.004,
>—Ib mg/ 0. 03L(F| = <0.00 = - = 0.003 = - = <0.00: - 0.003 <0.003,
ng 0 EIYF 0.4 0. 0.7 0.6 0.7 0.7 0.6 0.7 0.6 0.4 0.7 0.7 0.4
ng 3001 = 77. - 22.6 = 26. = 26.2 - 29. 19.2 29.5] 19,

| > ng 0. 05507 <0.005 <0.00 <0005 <0.005 <0.005 <0.00 <0005 <0.005 <0005 <0.00 <0.005 <0.005 <0.00

5 [ R mg, 2050 -] 3. - - -] 4. -] - - 5.2 = 5. 3.

gii-tUZzonzay mg/ 0. 3L(F] = <0.0 - - = 0.0 = - - <0.03 - <0.0: <0.03

ng 0. 02L(F| = <0.00. = - = <0.00. = B = <0.002 = <0.00: <0.002,
ng 1051 = - - - = = = - - - = - -
mg/’ 3F] - - - -] - - - - - - - - |
m 001, = g - 73 = 77 = 90 - 74 90 7
i3 2T 01 0. 01 0.1 <01 0. 01 0.1 01 0. Q.1 0. <0.
5.85(EB. 6501 6.8 6. 6.0 6.0 6.8 6. 6.8 6.8 6.8 6. 6.8 6. 6.
/T = 2. - - = 2. = - - 2. - 2. 2.
B, ml | - -] | | - - - |
mg/T - - - - - - - - - - -
us/cn 9.4 T11.8 9.3 106.8 127.6 107.4 108.2 112.2 T14.0 130.8 100.9 87.3 130.8] 87.3
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[ 200870513 200871105 | 2008/12/01 | 2009701719 | 2000702716 | 200303/09 = &
T TEE TEEE i TR R TR TR
T 16.0 26.0 30.0 26.0 13.0 9.0 q 9.0 11.0 3
“C 16.0 24.0 24.0 24.0 15.0 10.0 8.0 10.0 10.0
g 0001 - - - - - 00002 - 00002 - - = 0
ng 0.0031X = = = = =|_<0.00001 =[_<0.00001 = = - <0.
mg, 0. 0210 - - - = = <0. 00002 - <0. 00002 - = = <0.
ng . 0025 <0.0001 —[__<0.0001 —|__<0.0001 —[__<0.0001 —[__<0.0001 = -
ng X o_ﬁos 5 - = - = = 0000 - 00001 - = =
ng . 005 - - - = = . 0000 - 00002 - = =
ng . 003L) = = = = = 0000 = 0000 = = -
mq, 0. 04LLF| - - - = = 0000 - . 0000 - = =
ng 0051 - = - = = . 0000 - 0000 = = -
s ng 0. 05L) = = = = = 0000 = 0000 = = =
D= YA (D) ng 0. 008% - - - = = . 0000 - 0000 - = =
7 (BPHC) g, 0. 030 - - - = = . 0000 - 0000 - = =
07z (CNP mg. 0. 00014 F - - - = = 0. 000 - 0. 000 - = =
ng 0.0005% - = - = —[__<0.000 - 0.000 = = -
KZ (18P ng 0.008L = = = = —[_<0.0000" = 0000 = = -
ng 0.0065 - - - = —|_<0.0000! - 0000 - = =
ng o_ﬁz 5 <0.000002 - - - = =[<0.000002 =] <0.000002 - - - 0.
mg, 0. 005LLF|_<0. 000005 - - - = -|__<0.000005 =|__<0. 000005 - - - <
ng o.joz > <0.00001 = = = = = 00001 = 00001 = = -
mg, 0. 006L4F| <0. 00001 - - - = = 00001 - . 00001 - = =
ng u:ﬁos ) <0.0008 - = - = = 0. 0008 - 00008 = = -
ng 0. 0011 <0.00003 = = = = =[__<0.00003 =[__<0.00003 = = = 0.
mg 0. 030 <0.00005 - - - = —|_<0.00005 —[_<0.00005 - = = <0.
ng 0. 03L) 0.0002 = = = = = 0.0002 = 0.0002 = = -
mg, 0. 002L4F <0. 00005 - - - - = . 00005 - . 00005 - = =
ng 0. 300 |[_<0.0000; - = - = = . 0000, - . 00002 = = -
ng 0.004L <0.0000 = = = = = 0000 = 00001 = = -
mg 0. 043 <0.0000 - - - = = . 0000 - 00005 - = =
ng 0. 30 0,000 = = - = = 0.000 = 0.0001 = = -
mg, 0. 055(F| <0. 0000 - - - = = <0. 0000: - <0. 00002 - = - <0. ),
ng 0.2 <0.0000 - - - = —[_<0.0000 —[<0.0000 - = - <. X
ng 0. 2LCF|—<0.0000 = = - = —[_<0.0000 —]_<0.0000 = = - 0. X X
ng 0.0: <0.000 - - - = = 0.000 - 0,000 - - - X X X
ng 005X F|[—<0.0000! - - - = —[_<0. 0000 —_<0.0000! - - - <0.00005] _<0. 00005] _<0. 0000
mg, 0. 1 F <0. 0000 - - - = = <0. 0000 - <0. 0000 - - - <0. 0000° <0. 0000° <0. 0000
ng 0.2 0,000 - - - = = 0.000 - 0,000 - = - X X
mg/ 0. 008L(F [ <0. 0000 = = - = = . 0000 = . 0000 = = -
ng . 020 <0.0000 - - - = = . 0000 - . 0000 - - -
ng 030 K| <0.0000 - - - = = 0000 - 0000 - - -
ng 020 | <0.0000; = = - = = 0000 = 00002 = = -
ng 011( 0,000 - - - = = 0.000 - 0,000 - = -
mg/ 0 1L( | <0.0000 = = - = = . 0000 = . 0000 = = -
ng 0. 08I <0.0000 - - - = = 0000 - . 0000 - - -
ng 0. 10 F|_<0.0000 - - - = = . 0000 - 0000 - - -
ng 0. 005LLT [ <0.00002 = = - = = 00002 = 00002 = = -
ng 0. 0311 <0.00005 - - - = = 00005 - . 00005 - = -
7 ] mg/ 0. 01LF|<0.00002 = = - = = 00002 = 00002 = = -
Z| FADA) ng 0.05. <0.00002 B B - = = 00002 B . 00002 B = -
*,||17471/T2(1/ 71734, EDDP) __ma/ 0. 006L(F [ <0.00005 - - - - - 00005 - . 0000 - - -
[SA=EI=p ng 0. 04L( | <0.0000 = = - = = 0000 = 0000 = = -
ik ng 0.1 <0.0000 - - - = = 0000 - . 0000 - = -
X7z ft v E mg/" 0. 009LF | <0. 0000 - - = = = . 0000 = . 0000 = - -
"‘"7 LF>o0-]U mg, 0.041X <0.0000 B B - = = . 0000 B . 0000 B = -
4‘/ TV 7 PO ng/ 0. 01L(F|[<0.00005 - - - - - 00005 - . 00005 - - -
F77 ES I~><§- v mg, 0.3L( | <0.00005 = = - = = 00005 = 00005 = = -
,;IIT 1%/ g, 0.2 <0.00002 - - - - - . 0000 = . 00002 = = -
=X ?a%tz(‘mp mg/ 0. 004L(F | <0.0000 - - - = = 0000 - 00001 - - -
ng 0.0: <0.0000 B B - = = . 0000 B . 00002 B = -
mq/ 0. 04L(F| 0,000 - - - - - 0.000 - 0.000 - - -
ng 0. 005LLF | <0. 0000 = = - = —[_<0.0000 —[_<0.0000 = = -
ng 0. 09 <0.000 - - - = = 0.000 - 0,000 - = -
ng 0. 003L(T | <0. 0000 - - - = —[_<0.0000 —[_<0.0000 - - -
ng 011( <0.0000 B B - = —|_<0.0000! —[_<0.0000" B = -
mq/ 08I F <0.00 - - - - - <0.00 - <0.00 - - -
ng O1L{F|—_<0.0000 = = - = —[_<0.0000 —_<0.0000 = = -
ng 051 <0.0000 - - - = = _<0.0000! —[_<0.0000" - = -
T Ty mg/ 0. 005L(F| <0.00 - - - = = <0.00 - <0.00 - - -
DI=P(1[)] ng 0. 0251 <0.000 B B - = —[__<0.000 B 0. 000 B = -
TV FRLT 7Y nq 0. 01L(F|_<0.0000 - - - - =[_<0.0000" —[_<0.0000" - - -
TFror 709X ng 0_0BL{ | <0.00005 B = - = —[_<0.00005 —_<0.00005 = = -
17X (IPP) mg 0. 0011 <0.0000 - - - = —[_<0.0000 —[<0.0000 - - -
TR —F mg/ 2L(F[<0.000 - - - = —[__<0.000' - 0,000 - - -
EEPA(Giz2) ng 051 <0.0000 B B - = —|_<0. 0000 B 0000 B - -
VL ng NED <0.0000 - - - = =[_<0.0000; - 0000 - = -
ng . 0210 [ <0.00002 = = - = —[_<0.00002 = 0000 = = -
ng . 04L(F | <0. 000004 - - - = —|<0. 000004 —[<0. 000004 - - - K
ng 03X [ <0.00002 - - - = = 00002 - . 0000 - - -
ng 0. 00311 <0.00002 - - - = = 00002 - 0000 - - -
ng 0,004 <0.00004 - - - = = 00004 - 00004 - - -
ng 00211 <0.0000 B B - = = . 0000 B . 0000 B = -
nq 0. 004L(F[_<0. 0000 - - - - - . 00004 - 00004 - - -
ng 0.055 000 = = - = = 0.000 = 0.000 = = -
ng 0. 011X <0.000 - - - = = 0.000 - 0,000 - = -
mg 0.81( <0. 0000 - - - = =<0, 0000 —_<0. 0000 - - -
Y ng 0.2L( . = = = = = 0.000 B 0.000 B = -
N ZV 707 XFIU nq 0. AL{F|__<0.0000 - - - - - . 0000 - 0000 - - - <0. 00001
F IS 55I—I0 ng 0. 0BL( || _<0. 000002 = = - = —[_<0.000002 =] <0.000002 = = - <0. 000002
EAOER ng 000091 <0.00005 - - - = —|_<0.00005 —[_<0.00005 - - - <0.00005
TXEXF TS ng 0. 02X <0.00001 - - - = = __<0.00001 =] <0.00001 - - - <0.00001
FIETALOEY mg 0,511 <0.00002 B B - = —|_<0.00002 —[_<0.00002 B - - <0.00002
(= /02T i mg, 0.006L1 <0.005 - - - - - <0.005 - <0.005 - - - <0.005
REFIU mg, 2LL <0.02 = = - = = <0.02 = 0,02 = = - <0.02
KUA—NRE—F ng [ES <0.002 - - - = = <0.002 - <0.002 - - - <0.002
IN=N3]%d"] /x FIU mg 0,311 <0, 00005 - - - = —[__<0.00005 - _<0.00005 - - - <0. 00005
7597 ng, 0. 03L( F||_<0.000002 B B - = —|<0.000002 —[<0.000002 B - - <0. 000002
9’-7J'~/NI/7 ng 008X <0.00005 - - - = = _<0.00005 —[_<0.00005 - = - <0.00005
JOE1FJ—1U mg, 0,055 <0.000 = = - = = 0. 0002 = 0. 0002 = = - <0.0002
DaE=02 ng 03I <0.0000 - - - = —[_<0.00002 - 00002 - - - <0.00002
ZDWISEwES2 mg 0. 211 <0.0000 - - - = = __<0.00001 =] <0.00001 - - - <0.00001
FIZNS U g, 00611 <0.0000 B B - = —|__<0.00001 —[__<0.00001 B - - <0.0000T




